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 ��� ����� r(s) : I ⊆ R → R
3� 	� 
������ "����� ε→ 0

� �
���� Ωε ������

 ���� �
& ���
 

��
��� 
 �
 �
�����/

 ����
�
�
��
 �� ���������

���� ����� ������
� ���

"�
��
�
��
 � 
�
���� ����� �� 
�
�
�� ���
��
 
 ���

� ������� "����� ε → 0� 0��� 
�1
������
 �
�$�� 

�� 
������� ���
��
�
��


� 

�����
 
1
���� �����
�
������ 2�� ��������� 

 ���
 ����
�
��
 
� Σε :=

[0, π]×[0, επ]� #
 ��������/

 
 �
 �

�
�����
 ���������

 �� +��������� �
 �����$�
�

�

������
 �� ���
����� [0, επ] 
��

uε
n(y) = sen

(ny
ε

)
, λε

n =
n2

ε2
, n = 1, 2, 3, · · · .

%��� ����� "�
 "����� � �
���� Σε 

 �
��& �� ���
����� [0, π] ���� ε → 0 

�
 
�
����
 �� 

���� ����
�
�
�� �
��
� � �������� #

�� �������� �� ��
� ������

�
�
����� 

,� λ0 � ����
��� ��������� �� +��������� �
 �����$�
� �

����� � S 
 u0

� ���������� ����

����
��
� 3 

���� ) 
���� �
��� ��� �����
 "���������
 ���


��
��
 �� +��������� �
 �����$�
� 
� Ωε ��
 
�� �� �������∫
Ωα

ε

(
|∇xφ|2 − λ0

ε2
|φ|2

)
dx, φ ∈ H1

0 (Ωε). -4�4.
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�
�� �
��
� � ������� �� �����


ε → 0� 3 ����� −λ0/ε
2 
� -4�4. �
� � ��������
 �
 ���
��� "�
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������ � ����� ����	
� � ��	����� ��
�� � ����� �����	��� 	��
� ����
�� � ����	��

�� ����� ������
��� ����
� 
��
�� ��
� ����
���	
� �������	��� ��� ��
� ��
��

������� ��� 
�� ��	��	
� � {wu0 : w ∈ H1(R)}�
�� ���	���� �� Ωε� � ���� �� ��� � � �� �	
������ ����
��� ��� �	������� ��

 !"� #�� ���
���� ��� �� ��
�������� {λε
i : i ∈ N} �� −Δε �� Ωε ��� � ��	����� ��

$����%��
 	� ���	
����� 
�� � ��&��	
� ������
���	
�'

λε
i =

λ0

ε2
+ με

i , με
i → μi,

�� ��� μi ��� ��
�������� �� �� ���
���� �	�����	���	��

−w′′(s) + q(s)w(s) = μw(s), w ∈ H1
0 (I).

� ��
�	���� q(s) ����	�� ��� ����
�� &����
����� �� 
�
�� (��� 
���� ��&�	� ��)

���
���� ����� �

���� ���� 
�
�� �����
����  *"� �� +���
��� , ������	
���� ��

������ ��� ���	������ �����
���� ������ ���� 
��
��%��� �� �����  !" �  *"�

-&���� ���� ������	
����� ��&�	� ��� �
��
���� �� 
��
��%�� ��	��������� �

�������� �� .�%�/��	&�� ��� ��
�	���� �� +�����
 V (x) = − κ

|x| � 0 
= κ ∈ R�

�	����	��	
���	
� �� ����	��� ��	��������� �%������ ��
� ������ �� ����� ��

���	�
����� -�	�� ����� �%������ �� ���� �
��
��� �� κ > 0 � ���� ��������� ����

��	
������ 0��� � ���� 
������	���	��� ��	���������

(Ḣψ)(x) = −(Δψ)(x)− κ

|x|ψ(x), domḢ = C∞0 (R3).

� 1������ �� 2�
� 3�����%  4" 	�� ��5 ��� ��
� �������� � ����	������	
� ��
�)

����	
�� �� ����� ������ ��� 6	��� �7
�	��� ��
�)����	
�� �� ���� �	�����	���	��

� �������� �

(Ḣw)(s) = −w′′(s)− κ

|s|w(s), domḢ = C∞0 (R\{0}). 8!�9:

; ��	%����� ��� Ḣ 
<� �	����� �� �����<	���� �&���� � 2 �� ��	�����	
���	
��

������ �	�	�
�� �7
�	�=�� ��
�)����	
��  >"� �� �	
������� �� +���
��� 4 %� ���

��������� �� 
���� ����� �7
�	�=��� $�����	
���	
� �� ������ ,$� � ��	&��������� ��

!,



��������	 
� ���	�
� �� ����� ���
����� 
� �������� �� �����
 ���� �� ����������

�
 ���
�	� 
� �
� �������� ������
����� 
� Ḣ �

(HDw)(s) = −w′′(s)− κ

|s|w(s) �����

�
  ��

domHD = {w ∈ H2(R\{0}) : w(0−) = 0 = w(0+)}.

�!�
�
�� HD 
� �������� 
� �����!	�� 
� �����
�� ���"��

���������� �����  ��	 �������� ������
����� 
�	!�� ���������� � #��
� 
�

!�
���$��� ���
�
�������	 ��
 �������
� �������� �� 	��������� %��& ��'� �
 �����


���� ���������
� �
 %��'& ���� � ���� κ > 0& ���� �
���� � ���
���� 
� ��������


� �����!	�� �� �����
 � � ��������( �����
��� �� �����
���� ���
�
���������

(Haw)(s) = −w′′(s)− κ
w(s)

|s|+ a
, a > 0.

)�� 
�����
�  �� � �� �$���� Ha ���*���� ���� HD �� �����
� ���+��
� 
�� ����	�

*�����  ���
� a→ 0�

,�����
� � ����	�
� 
� ��	������� ��������� ������
������ 
� ���"� � �� �
����


� %�' � %-' ���������
�� ���
�& ����� �������� ����� ���� � � ��������( �����
���� �

#��
� 
� !�
���$��� �� 
�*��
� �
 �
 ���� �
 R
3 � �����  ��	 
�� ��������� � ���

	������
� �� �������� 
� ���.��
����� /� �������& ����  �� ��������
�� � #��
�


� !�
���$��� ���
�
�������	 �� 	�
��� ε→ 0 � ������ Ωε 
�*� ��� ����
� ��	� ���*�

r(s) = (s, 0, 0)� 0��� � ���� ����	��*� ��	���
�� � ������ 
� Γ����*���$����1 �# ����

� ���� ������*� ���	���
�� � 
���������
�
� 
�� +��
��  ��
�#������ ��
� �������

��	 ����	��
� 
� ������ ����
��& � �������� 
� �����!	�� � ��	������
� �� ��������


� ���.��
���� �
 �
��� �� ����� ���
�� 2���� ����	��
�� ��� ���������
�� ��

���3��	� 4�

���
�  �� � ������ 
� Γ����*���$���� ��� ���
��� ����� ����	����� ����� ����

*���$���� +���� 
�� ����	*�����& �� ���3��	� 5 �����
���
�� �
� �������� ��
�	��

� ���
� � ��������
�� �
� ���*���$���� ���+��
� 
�� ����	*����� �� �������� 
�

���.��
����� ��
� ��� 
� �� ������� � �������� 
� �����!	�� +�� � ��	������
�� 6
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��������� 	 
�� ����� 
��� �� 
��� ������ Ωε ��� 
����������� � �����
��� �������

����

Vε(x) := − κ

|x|+ εα
, x ∈ Ωε, 0 < α < 1.

�������� �� 
��� �� �����
��� ������ ������� �� ����� ��� ��  ������� � 
��

�� ���������� �� !"# �������� � 
������$
�� ����� �� ������� ��� ����������� ���

���������� ����
����� �� ������ %&�&' �� ������ ε → 0� (
��� ����� ����
���� 
���

��������� 	 � 
������$�
�� �������� ��� ������������ )��� ��������� 	 �����������

��  ������� ��

*���� �������� �� 
��+������� 
�� 
����������� 	 � ��������� ��,� h(s) ���

������ 
������� ��+���� �� I = [−a, b]� 0 ≤ a, b ≤ ∞� � �����-���� 
��

%�' s = 0 	 � .��
� ����� �� �/0��� ������ �� h �� I1

%��' h ∈ C1 �� I\{0} � ���� ��2��-���� �� s = 0 ������ � �0������

h(s) =

⎧⎨
⎩ M − c+s

m +O(sm+1) �� s > 0;

M − c−|s|m +O(|s|m+1) �� s < 0

�� 
�� M � m� c± ��� �.����� ����� � M, c± > 0� m ≥ 1�  ����������� ���

�����
��� �� ������� ���������� �� �������� ������ �� R
2

Ωε = {(s, y) ∈ R
2 : s ∈ I, 0 ≤ y ≤ εh(s)}.

* 
��� �� 
�� I 	 �� ��������� �������� ��� ��������� �� !3# � � 
��� I = R

�� !&4#� 5������������� �� ����� �� 
����� ��� �������� 
�� �� ������ ε → 0 ��

����������� lj(ε) �� 6����
���� �� 7���
-��� �� Ωε ��� � �������� 
������������

���������
�8

μj = lim
ε→0

ε2β

(
lj(ε)− π2

ε2M2

)
, β =

2

m+ 2
,

�� 
�� μj ��� �� ����������� �� �������� �� L2(R) %���� ������ �� L2(R)� �����

�������� �� I ��� �������� �� ���' ���� ���

(Hu)(s) = −u′′(s) + q(s)u(s), q(s) =

⎧⎨
⎩ 2π2M−3c+s

m �� s > 0

2π2M−3c−|s|m �� s < 0
.

&"
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3 � � 
���� ����
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�	 ��

� ���� � ��	���	�����

��	� ��
�� ������ h(s) ������ �� ���� ��������	 �� ��

� �
����� �	�� �� ����� 
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� * ���
 
������������ � !�� ������
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 ������
 ����

��������� � ������ ��� ��+������� � �������� 	����� ������� 
���� � ������

,��������
 �

�� ��� ��
�� ����	 ��
�� ��
�- �
 ����	.�
 
�� ����
������


��
 ������	�
 
�������
�

/���� �	����
 �����"�
 � ��
�����"�
 !�� 
���� �
���
 �� 	���� �� ���� �

�����	.�� 0��� y = (y1, y2) ∈ R
2 �
�������
 y2 := y2

1 + y2
2� 1�2�� z, z′ ∈ R

2� �

������� ������� 〈z, z′〉 $
 ����
 � �������� ��� z · z′� 3� ���� � �����	.� �
 �
����


�� 4�	���� 
�� ����
 ������ �����
 ��
 ��
�	����
 ��

�� 
�� ������	�����
 ����

�
����
 �� 4�	���� ����	�5�
� 1����� !�� ��
 ��������
 �� �������� 6��	������

�
����
 �

������ !�� � � 6��	������ ��������� �� 
�2�� −Δ� 1� Ω � �� 
����� 

2���� ������ �� R
n� �
 �
����
 Hm(Ω) 7m = 1, 28 ������� �
 �
����
 �� 1���	���

6�������
 !�� Hm
0 (Ω) ������ � ���2���� ��
 ����"�
 �� Hm(Ω) ��� � .�����
�

��������	 �� !�� 
� ���	�� �� ��������� ∂Ω�

'9



�������� 	


��
��� �� Γ�����������
�

����� �����	
� ������
����� ���
�� 	�� 
���� �� ������ �� Γ���
�����
����

���� 	� �������
�� ���� ����
���� �
������� ���� �� ���
����� � ���	
����� �����

��
����� � 	� ����� �	��� !���� ���� �� ��"#���� �����	
���

��� �����	
�� � �
��
�������

$�%� (Tε) 	�� �� 	�
��� �� ���������� �	�����%	
��� ��� ����
�� domTε ��

	� ������ �� &�
'��� H� (�
������ ��� bε �� ����������� )����� ��� 	�
�
�����

���������� � ����� ����������� *���� ��
��� �� ε → 0 � �
�
���� � 
����� T +�����

b, �� (Tε) +����� (bε),� - ����
�� �� T 
�� ���. �	����� 
�����������
�� ��
�� ��

H � ��	 )���� ���. ��
����� ��� H0 = domT +��� img T ⊂ H0,�

� )	
��� ζ �→ b(ζ, ζ) ���. ����
����
�� ��
����� ��� b(ζ) � ������� �� )����

 	���.���� ���������� *���� ���	��� ���'/�  	� b / �������� +�	 ��%�0 b(ζ) ≥ 00

∀ζ ∈ domb, � b(ζ) = ∞ �� ζ ∈ H\domb� �����0 ����
�����  	� b / �������
��
	�

�
)�������
��0 �  	�
 / � 	���
�
�� � ��1��  	� � )����  	���.���� b / ������ ���

	� �������� �	�����%	
�� � �������� T 0 �	 ��%�0

b(ζ, η) = 〈T 1/2ζ, T 1/2η〉, ζ, η ∈ domb = domT 1/2;

��%� 2������ 3���44 �� �5�� $� λ ∈ R0 �
��� b + λ �
���� � )���� ��� 	�
�
���

46



(b+λ)(ζ, η) := b(ζ, η)+λ〈ζ, η〉 ���� ������	�
��
�� 
���� ���������� � b(ζ)+λ||ζ||2�
� ��
������ ��� ����� ������ �� ����� 	��� λ > 0� ������ bε1 ≤ bε2 ��� � ���

��
�� ��� Rλ(Tε2) ≤ Rλ(Tε1)� �� ����� � ���� 
��� �� 
����� ����������� � ��
!��
�

��� � ����
�� ��� � ������	�
��
�� ���� 
��� �� �	�������� ����"#�
��� � ��
!��
��

$��� �����%&� ��� ���� ����� �'	"����� 
� "���������� ��� #�( ��� � 	���)#�" �*���

��
#��+ 
��� 
���� ��� ����"#�
��� ����#�� �� ������ ������ 
����� ����������� �	��

�'��	"�� #��� ,�%&� ���� �� ����� -��� ���� 
���� ���� +����� �� �	�������� � ��
�

#��+ 
��� 
���� ��� ����"#�
��� 
&� � ����� �&� ������ � ��"����
���� ��� �� ��
�����

������� �� Γ���
#��+ 
��� �.�� / ��
����� �� Γ���
#��+ 
��� 
&� � �������� �	�
��

0 
����� ����������� � 	��� ��� �	"����� � ��	�%�� ��	�"!+���� ���� +������ 1�

�
��
��� ���� 
���� ��	)��"�� #���� ������
+�� � �������&� �� �	�%�� �� 2�"*��� �


����� ������"�
����� �������
�)
��� �

�������
��� 3 ������ +���" 	��� ��� �
��
�

����� �� �.�� 3���� H ���	�� ��
��� �� ��	�%� �� 2�"*��� ���" � B(ζ; δ) � *�"�

�*���� �� ��
��� ζ ∈ H � ���� δ > 0� 4�5
���� ���*�� R := R ∪ {∞}�

�������� 	
� / Γ�"����� �

����� �� ��� ���� 
��� �� 
�
%6�� �������
�)
��� �
�


�������
�� fε : H → R � � 
�
%&� f− : H → R ���� 	��

f−(ζ) = lim
δ→0

lim inf
ε→0

inf{fε(η) : η ∈ B(ζ; δ)}, ζ ∈ H.

/ Γ�"����� ��	����� f+(ζ) �� fε � ��5
��� ��*������
�� lim inf ����� 	��

lim sup� ,� f− = f+ := f � ��(���� ��� ��" 
�
%&� � � Γ�"����� �� fε � ���� ���


����� 	��

f = Γ− lim
ε→0

fε.

7�� �������� 
� ��5
�%&� ����� ��� � ��	�"�+�� �� H � � ��	�"�+�� �� 
����

����" � 
���� ���� 
�"���� �� Γ���
#��+ 
��� 
����� ,� � ��	�"�+�� 
���� � ��
�����

����� �� *�"�� ��#�� ��� ��*��������� 	�"�� ��
��
��� �*����� �� ��	�"�+�� 
����� �

����� 
�"���� �� Γ���
#��+ 
��� 
�����

�
����� 	
� 3 ���� 
��� fε : R → R� fε(x) = sen(x/ε)� Γ���
#��+� 0 
�
%&�

��
���
�� −1 ���
�� ε → 0� $��� ���	"�� �'��	"� �"����� *�� � 8��
#��+ 
��� ��

�)
���9 ��� 
�� ��� ����#�%&� 	��� �
�����%&� �� Γ���
#��+ 
����

�:



��������	
 ��
 ������ ��	
� �
��
 Γ��
��
��������

��� 
� �
��� Γ− lim
ε→0

fε 
= −Γ− lim
ε→0

(−fε)�

���� ������ ��
 f = Γ− lim
ε→0

fε 
 g = Γ− lim
ε→0

gε� �
�
 ��
�	
�
� �
 fε + gε ��
 �
�

Γ��
��
��
�	
�

����� ��
 � �
�
�����
 �
�	������ � �
��� �
 �
 Γ��
��
������� � ��� !
� �
����
�	"����

���
��
��
�	
� �
� 
#
�$�
% �
 fε = f % $��� 	
�
 ε% 
 f ��
 � �
����
�	"���

���
��
��
�	
% 
�	�
% 
 Γ− lim
ε→0

f � � ���
� ��� �
 �
����
�	"��� ��&
���� $
�

f % 
 �����% ���
�
�	
 �
 f �

'� ()* �$��
�
 � �
�
��	�� �
 �� �
����	
 $�
$
�� �
�

��
�
���	
 ��� +
&�� fε : H → R ��� �
������� �
 ��� !
� �
����
�	"���� ���
�

��
��
�	
 
 f : H → R� � �
������� fε Γ��
��
��
 �
�	
�
�	
 � f �
% 
 �
�
�	
 �
%

�� �
����	
� �
��� !
� ��
 ��	���
�	���

��� $��� ���� ζ ∈ H 
 	
�� �
������� ζε → ζ 
� H 	
���


lim inf
ε→0

fε(ζε) ≥ f(ζ).

���� $��� ���� ζ ∈ H 
#��	
 ��� �
������� ζε → ζ 
� H �
 �
��� ��


f(ζ) = lim
ε→0

fε(ζε).

��������	
 ��� +
 
� �
, �� �
��
������� �
�	
 ζε → ζ �
� �
����
���� � �
��
��

������ ����� ζε ⇀ ζ �� $�
$
�� �
 �����% 
�	�
 ��,
�
� ��
 fε Γ��
��
��
 ������

�
�	
 � f �

��� Γ������	
����
 � �����	
����
 ��� 	����������

-��
� 
������� 
 $�����$�� �
���	��
 �
��
 Γ��
��
������� 
 �
��
������� �
�	


�
� �
�
��
�	
�� -
&� ()* $��� �
	��.
� 
 �
�
��	�� !
��

/0



������� ��	 ����� bε� b ��	��
 
�
��
�
���	�
 �������
 � ��

�
��
 �� �� �
����

�� �
���	� H� ����� Tε� T �
 	�
����
��
 ���	���	�
 ������������
 � ��

�
��


�

��
���
� ��� ���
�������
�

�
� bε Γ������	�� ��	������� � b � ��	� ���� ζ ∈ H ����
� lim inf
ε→0

bε(ζε) ≥ b(ζ)�

��	� ���� 
��� ��
� ζε ⇀ ζ�

�

� bε Γ������	�� ��	������� � �	�������� � b�

�


� bε+λ Γ������	�� ��	������� � �	�������� � b+λ� ��	� ����� λ > 0 �� �


��

��	� ���� λ ≥ 0��

�
�� !�	� ���� η ∈ H � λ > 0� � 
��� ��
�

min
ζ∈H

[
bε(ζ) + λ||ζ||2 + 〈ζ, η〉]

�����	�� �

min
ζ∈H

[
b(ζ) + λ||ζ||2 + 〈ζ, η〉] .

��� Tε �����	�� � T �� 
���
�� ��	�� ��
 	�
�������
 �� H0 = domT ⊂ H� �� 
����

lim
ε→0

R−λ(Tε)ζ = R−λ(T )P0ζ, ∀ζ ∈ H,∀λ > 0,

�� ��� P0 " � �	�����	 �	������� �� H0.

#$



�������� 	

Γ
����
������� 
 � ��������� ����


����� �����	
� ��
�� ����	��� � ���� �� 	
� ������	
� �	������ 
���� �� 
������

�
 	
 �	�� Ω �
 R
3� ���� �������
����� � ���
������ �� ������
�� �
 Ω�

���� Ω� 	
 ����
���� ε � ������������ �� 
��� �	� � ���	����� �� �	��� Ωε

�� ���	�� � 	
� �	��� �
 R
3 �	���� ε→ 0� ��� ���
�
�� �� Ω = {(x, y, z) ∈ R

3 :

y2 + z2 = 1} � 	
 ��
����� �� R
3� � ���	����� Ωε = {(x, εy, εz) ∈ R

3 : (x, y, z) ∈ Ω}
�� ������
� �� 	
� ���� �
 R

3  ���� x! �	���� ε → 0� " ��#����� � ���
���� �

��
�����
���� �� $�
�
������� �� ������	
� �� 
�
��� ε → 0� ����� �	� �����


�
��� �� ��%�&�� Ωε �� ������
�
 �� ���� x� ������'��
�� ���� (
��
� ��
 � ����)�

	����
�������
 R � ���
�
�� ���� ��������
���� �� ������� �� ��	�
����

�� ���
���� ��)*� ��
�� ������	�� ����
����
���� � ��%�*� �
 �	� � ������	
�

�� �������� ���'����� �� +���� �� ��%�&�� ����
 ��� ��
 
��� %����� �� �	� ��
��,

���� �� R
3� �� ��%	��� ��)*� ��
�� ����	��� � ��
�����
���� �� ������	
� �	����

ε→ 0� �� �������� ��)*� ��
�� ��'��� �� +��
�� �	���-����� ���������� �� ���
�,

����� �� ������
�� �
 Ωε� .���
�� �	� ����� +��
�� ���*� ������
���� ��
���������

��
 � %��
����� �� Ωε� �� (
��
� ��)*� ��
�� ���������� ���	
����� #- ����������

����� � ���	��� � �	� 	����
�� �
 �	���� �����	
���

"� ���	
����� ������������ ����� �����	
� #- �*� ���������� � �� ������
� ����,

����

����� ��� ��+�������� /01 � /21� 3��� ���	
����� +��
�
 � ����� �� ������� ����
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������ �������� ���	
��
�� � ����
���� �	� ����
����� ����	����� 
���� ��������

���� �����	
� ��
� ��� ����� ���� 	�� ���������� ���� � �	� ���	� ����� �����

��� ������	
� �� ���
�
�

���� I = [a, b]� −∞ ≤ a < b ≤ ∞� 	� �������
� 
� R � r : I ⊆ R → R
3 	��

�	��� ����
�� C2 �� R
3 �����������
� ��
� ����������� 
� ���� s� � �	����	��


� r �� ����� s � 
�����
� ��� k(s)� �� �������

T (s) = r′(s), N(s) =
1

k(s)
T ′(s), B(s) = T (s)×N(s),


������� ���������������� �� ������� ��������� �����
 � �������
 � �	��� �� �����

r(s)�  ���� ���	��� �	� �� ��	��!�� 
� "����� ��� �����#�����$⎛
⎜⎜⎜⎝

T ′

N ′

B′

⎞
⎟⎟⎟⎠ =

⎛
⎜⎜⎜⎝

0 k 0

−k 0 τ

0 −τ 0

⎞
⎟⎟⎟⎠
⎛
⎜⎜⎜⎝

T

N

B

⎞
⎟⎟⎟⎠ ,

�� �	� τ(s) � � ������ 
� �	��� �� ����� s�

���� S 	� �	�����	��� ������� 
�����
�� ����
������� ����%� � ���&����� 
�

R
2� � ����	���

Ω = {x ∈ R
3 : x = r(s) + y1N(s) + y2B(s), s ∈ I, y = (y1, y2) ∈ S}

� ����
� �����
�
��
�&�� � ������ S �� 
���� 
� �	����

Ω ���
� ��
� ��� 
�#����
� 
� ��
� �	� �� ��
� ����� r(s) � ������ S #��

	�� ������� 
� '��	
� α(s)� � ���� ������ � 
�
� ���

Ωα = {x ∈ R
3 : x = r(s) + y1Nα(s) + y2Bα(s), s ∈ I, y = (y1, y2) ∈ S},

�� �	�

Nα(s) := cosα(s)N(s) + senα(s)B(s),

Bα(s) := − sinα(s)N(s) + cosα(s)B(s).

((



��� � �����	
��� ��
��� ����� ����
��	�	 � ��	����	� ε > 0 �� S � � 	��
��

Ωα
ε = {x ∈ R

3 : x = r(s) + εy1Nα(s) + εy2Bα(s), s ∈ I, y = (y1, y2) ∈ S}. �����

���
�� Ωα
ε � ����	
�
��� � �
	�� r(s) �
���� ε→ 0�

��� �����	
�� ��
��

 ���� ����
��	�	 � ���� �� 
�� ��	�!�
"� �
���
�� �� ������� "
�	������

�� 	��
�� Ωα
ε ��#�
�� �� ����� ����	
�	�  ���� 
���	 � ����
��� �� $
	
�%"�� ��

&	����
	� �� Ωα
ε � '�
� �	��
�������� �� −Δα

ε ������ � (��"��
��� �� $
	
�%"�� ��

Ωα
ε � ����� ���
��	 �� &�	��� �
��	)�
��� �����
���� � ����� ���	���	��� �
 ��*��

ϕ �→
∫

Ωα
ε

|∇ϕ|2dx, ϕ ∈ H1
0 (Ω

α
ε ),

�� �
� ∇ ������ � �	��
���� �� ϕ ��� ���	������� 
�
�
� �� R
3� +�	� ���� ε > 0

����
��	���� � ���

��� �	�,"��� �� �
����"�	��-⎧⎨
⎩ −Δuε = λεuε

uε ∈ H1
0 (Ω

α
ε ).

���.�

����
��	���� � ���� ��	�
�
"�	 �� �
� I � 
� 
���	��"� "
�
����� ���
��

���� Ωα
ε � "
�
����� � ������	� σε �� �	�,"��� ���.� � �
��	���� '�
� �	��
��������

σε = {λε
i ; i ∈ N} �� �
� 0 < λε

0 < λε
1 ≤ λε

2 ≤ · · · ��� �/��	�� 	��
�� ���
�
��� �
����� ��	 �		
����� �� ���� �
� &�	��� 
�� ���
0��
� �	�������� 1
���� I = R

� ������	� �� �	�,"��� ���.� ��� � �������	
������ �
��	����

1
���� ε → 0 � 	��
�� Ωα
ε ��	��2�� ���� ��3 ��
� ���	�
��� 4� 
�� ��	�!�
"�

"
�	� � �,	
���� � ��	������	 �
�� 	��
�� �����
�" �

�� ���
��� �
� ���	�
� �����

� 
�#�
��� 5 �
� ���		� ��� ���
"��6�� �	�����	��
� �

�� 	)�
��� �
���� ε → 0�

������
���������� � ���	�
� ����" �� �
����� �
��	�� � ��
 � 
�#�
�� �
���� ε→ 0�

+�	 ���� ���
��� ������� 	��
	�	 ��"��� �� &�	�� �
��	)�
�� ���� 
�� &�	�� ��


����
	 ���� ��7�"����� �� "
�
�� ε→ 0�

.�



� ��������� �	� 
 ����� 
��� �������	� ���� ��� ��������� �� ����� 
����������

���������� � �������� ����� ���� λ0 � �������� ��������� ��� ����� � ������ ��

�������� ��  ������ ��� �����!"�� �� #����$��� �� ����	� S� �� �����

−Δu0 = λ0u0, u0 ∈ H1
0 (S), λ0 > 0,

∫
S

|u0|2ds = 1.

� �������!	� u0 ���� ����������� ����������� %� ������!"�� ������������� #�&

���� � ���� ����� ����� �������� �� ������ �� ����� λ0/ε
2 ���� �� �����$� ��

��������� � ���������

'������� ����� � �������� � ��
�(���� �� ������ 
����������

Fε(ϕ) :=

∫
Ωα

ε

(
|∇ϕ|2 − λ0

ε2
|ϕ|2

)
dx, �)�)�

��*����� �� H1
0 (Ω

α
ε )�  �������� 
��� �� ������ �� ���������� ��������� λ0 
 ��

��������� ��������

+������������� � 
�� 
������� 
 ����� � 
�� ������ 
����� ε → 0 ���

� ��
�(���� �� ������ 
���������� ������ '������ ��,�� 
�� � 
�� *,����� ��

�������� �� ������ �� ����� λ0/ε
2� ��� ������� � ���-���� ������ ��������"��� ��

���-���� ����� ��� ������� .��� ���� ����������� ����������� ��� � ��������� ��

�������,� �� ���-���� 
�-������

��� ������� �	 
���

	��

/��� �� �)�)� � ����	� �� �������!	� ������� �� ���-����� ε� � ��������

����� ��!	� 
 ��,�� ��� �����!� �� ��������� �� ���� 
�� � ����	� �� �������!	�

��������� �� ε > 0�

/����������� � ������!	�

fα
ε : I × S → Ωα

ε

(s, y1, y2) �→ r(s) + εy1Nα(s) + εy2Bα(s).

0���� ����� 
�� ||k||∞, ||τ ||∞, ||α′||∞ <∞� 1���� �����!"�� �	� �������� 
���

���� ε ��*����������� ��
����� fα
ε ���� �� ��������*����
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���� �����	 ∇ 
����� � ���

���� ����� ��� ����
���
�� ������
���� (x, y, z)�

����� ����� ��� ��
���� 
� ���
���
�	 � ����
� 
� fα
ε 	 � ������ � ����� ���
���
��

����� ��� ����
���
�� (x, y, z)	

bαε (ψ) =

∫
Ωα

ε

|∇ψ|2dx, dombαε = H1
0 (Ω

α
ε ),

���� �� ����
���
�� (s, y1, y2) 
� I×S� ���
�	 �������� � ��������� �� �� 
����
�

��� ���� ��
� ε > 0�  �� ����� ��
�	 � ����� � ����� ! ��� �!��
�� "
�����
���

G = Gα
ε �#�$��
�
�� � ���� ! 
�
��

� ���� 

���������� f

α
ε 	 �� ��%�	

G = (Gij), Gij = 〈ei, ej〉 = Gji, 1 ≤ i, j ≤ 3,

�� ���

e1 =
∂fα

ε

∂s
, e2 =

∂fα
ε

∂y1

, e3 =
∂fα

ε

∂y2

.

& �����'��
�� 
� (����� ! 
�
� ���

J =

⎛
⎜⎜⎜⎝

e1

e2

e3

⎞
⎟⎟⎟⎠ =

⎛
⎜⎜⎜⎝

βε −ε(τ + α′)〈z⊥α , y〉 ε(τ + α′)〈zα, y〉
0 ε cosα εsenα

0 −εsenα ε cosα

⎞
⎟⎟⎟⎠

�� ���

βε(s, y) = 1− εk(s)〈zα, y〉, zα := (cosα,−senα), z⊥α := (senα, cosα).

� ����
� 
������ 
� J !

J−1 =

⎛
⎜⎜⎜⎜⎝

1

βε

(τ + α′)y2

βε

−(τ + α′)y1

βε

0
cosα

ε
−senα

ε

0
senα

ε

cosα

ε

⎞
⎟⎟⎟⎟⎠ .

)������ ��� JJ t = G � det J = | detG|1/2 = ε2βε(s, y)� *��
� ��� k ! ���

����#� �
�
��
�	 ���� ε ����
��������� �������	 βε �#� �� ����� �� I × S� ���
�	
βε > 0 � fα

ε ! �� 

���������� ������ +�
�
�
� ��� fα
ε ��%� 
�%����� ,�� ��%�	 ��� �

���� �#� �� ����$
���������- ������� �� 

���������� ������ ���� ε ��������

./



��������	��� 
 ���
���

||ψ||2G =

∫
I×S

|ψ(s, y1, y2)|2ε2βε(s, y)dsdy,

�
����� 
 �������	
 �� ����
� ��
����	�
�

b̃αε (ψ) :=

∫
I×S

|J−1∇ψ|2ε2βε(s, y)dyds, dom b̃αε = H1
0 (I × S,G),

� 
���
 ∇ = (∂s,∇y) �∂s � �
 ���	�
�
 ��� �����	�� 
 s � ∇y = (∂/∂y1, ∂/∂y2)��

�
	� ����	�
������ 
 ���
��
 �� �������
�
� 
�	�
 ��	 �
�	�
 ���
 ��
������
���

��	���	

Uα

ε : L2(Ωα
ε ) → L2(I × S,G)

φ �→ φ ◦ fα
ε

 � ���
���� ����	��
����� �����
��� Uα
ε ψ ��� ψ�

!��� �	����	�� �
 ����� 
����	��� �
��� ��
��
	� � ����� (λ0/ε
2)||ψ||2G � �
�"

�
� 
 �����
� 
 �������	
 �� ����
� ��
����	�
�

âα
ε (ψ) :=

1

ε2

(∣∣∣∣J−1∇ψ∣∣∣∣2
G
− λ0

ε2
||ψ||2G + c||ψ||2G

)
, �#�$�

�� ��� c := ||k(s)2/4||∞ . !��� ������� �
 ��%&	�
 ������ ���
� 
 �����
��� c > 0�


��	� ��'�	�
� 	���	�
 ��� 
� ����
� ��
����	�
� ��(
� ���
� ���	�	�
��

)����� �������� �����
� ���

âα
ε (ψ) =

∫
I×S

[
1

βε

|ψ′ + (∇yψ ·Ry)(τ + α′)ψ|2

+ βε

( |∇yψ|2
ε2

− λ0
|ψ|2
ε2

)
+ βεc|ψ|2

]
dyds, �#�*�

�� ��� dom âα
ε = H1

0 (I × S)� +����
��� ��� ψ′ 
 ���	�
�
 �� ψ �� ���
��� 
 s�

∇yψ � ��
�	���� �� ψ �� ���
��� 
 y = (y1, y2) � R � 
 �
��	� �� ���
���⎛
⎝ 0 1

−1 0

⎞
⎠ .

��������	
 ��
 , ��	�� 	�����
��� ��� βε(s, y)→ 1 ��	���������� �
�
 ε→ 0�

+� �
��� ��(
 || · || �����
��� 
 ����
 ���
� �� L2(R × S)� -&	���� ����.�� β−ε �

β+
ε �� ���� ���

β−ε || · || ≤ || · ||G ≤ β+
ε || · ||,

/0



� β−ε (s, y)→ 1� β+
ε (s, y)→ 1 ������ ε→ 0	 
���� ��
��
�� β−ε (s, y) = inf

(s,y)∈R×S
βε(s, y)

� β+
ε (s, y) = sup

(s,y)∈R×S

βε(s, y)	 ���� ����������� �
����� ��� �� ������� L
2(R× S, βε(s, y))

��������
 ���������
���� ��
 L2(R×S)	 ����
� ����
�� ��������� �����
���� �

L2(R× S)	

��� �����	 
�	���
��	

�
 ��� � ����������� � ���� ���������� �
 ��� I � �
 ��������� ��
�����	 �

��������� ��������� ������� ������ ��

������� ��	  �!� Ωα
ε ��"���� ��� #$	�% �
 ��� I � �
 ��������� ��
�����	  �!�

{λj(ε)}∞j=1 � ����&���� �'�(����������� �� ����������� �� )��������� �� *��������

�
 H1
0 (Ω

α
ε )	 ���'��

λj(ε) =
λ0

ε2
+ μj + o(1), ������ ε→ 0,

�
 ��� {μj}∞j=1 ������ � ����&���� �'�(����������� �� ����������� �� �������� ��

 ���+������

− w′′(s) +
[
C(S)(τ(s) + α′(s))− k(s)2

4

]
w(s) �
 L2(I). #$	,%

���� C(S) � �
� ��������� �'�(�������� ���������� ��
���� �� ����'� S	

-���
�� ����� ��� � ��.�&���� �� ��������� �� �������� �/����� #$	,% �'� �

������ ������ �� ���
� βε(s, y) = 1− εk(s)(zα · y)	
0�
� �
 ���� ���� ���� ξ ∈ R

2� ���������
�� � �������� ������
� �����������

−div[(1− (ξ · y))∇yu] = λ(1− (ξ · y))u, u ∈ H1
0 (S).

1�
���� ξ = εk(s)zα� ���� ε ��"������
���� �������� � �������� ������(

���� � �������� � ��
 ���������� ��
�����	 *�����
�� ��� λ(ξ) > 0 ��� ���
����

���������� �� ��!��

λ(ξ) = inf
{u∈H1

0 (S): u �=0}

∫
S
(1− (ξ · y))|∇yu|2dy∫
S
(1− (ξ · y))|u|2dy .

23



������ ���� v ∈ H1
0 (R× S)�

1

ε2

∫
S

βε(s, y)(|∇yv|2 − λ0|v|2)dy ≥ γε(s)

∫
S

βε(s, y)|v|2dy q.t.p.[s], 	
��


�� ���

γε(s) :=
λ(εk(s)zα(s))− λ0

ε2
.

������ � ���� �	 
�	 k(s) � 
�������� 	� ��� �	���������	 
�	

���������� 	
� γε(s)→ −k(s)2/4 �������	�	��	 
����� ε→ 0�

� ���������� ����� �	�� ����� ���
 ��� �������� ��� ��
��� !�� � �"��� �	
�

	 �	��	 
�	 c = ||k(s)2/4||∞ #�� �
��� 
�	 �� ������ 
���������� $%�&' ��� �����

������(���

!��� (���� �� !�� ��
� ) � Γ����(	�*+���� ��� ����(��� �	
� ,���(	�*+����

�� � ����-� � �	��*��
���	 $%�.' 	 � /��������� %�) �"���� � 	��
��	�	� � ����	�

���	��� �� ����� −k(s)2/4 �� ��	����� 
����	�

0�(��	��	� ���� ξ ∈ R
2 #��� ������	�	��� � ���1
	��

−Δuξ − λ0uξ = −ξ · ∇yu0, uξ ⊥ u0. $%�2'

� 	����+���� �	 uξ � *�������� �	
� �
�	�����(� �	 3�	�4�
�� 5	������� ��� χ1 	 χ2

�� ��
��6	� �	 $%�2' ���� ξ1 = (1, 0) 	 ξ2 = (0, 1)� �	��	���(��	��	� /�� 
��	������	�

���� ξ = (ξ1, ξ2) ∈ R
2� � ��
���� �	 $%�2' � ���� ���

uξ = ξ1χ1 + ξ2χ2.

�� ����� ���������	 �� �	���������� �� /��������� %�) � � �	*����	 
	��


�	 �	 	������� 	� ���7

�
�� 	
	 /��� ���� ξ ∈ R
2� �	���

inf
u∈H1

0 (S)

∫
S

(|∇yu|2 − λ0|u|2 + 2(ξ · ∇yu0)u
)
dy = −|ξ|

2

4
.

����� ����� �  �#�� ����� � ����*��� ��� uξ ���� ��� $%�2'�

)2



�� ��� ������ 	
� ��������
� � ������
 ��� � � �
�� �� 	
� 
 ��	
����
 ��

����
� 	

������
�

bε(ψ) :=
1

ε2

(∣∣∣∣J−1∇ψ∣∣∣∣2
G
− λ0

ε2
||ψ||2G

)
,

Γ��������� ���������� 


b0(w) =

∫
I

[
|w′|2 +

(
C(S)(τ(s) + α′(s))2 − k(s)2

4

)
|w|2

]
ds.

	

��� ε → 0� ������� 	
� ������
 
�
 ���
��� �� �������� �� ������ ε → 0�

�
� ���� �
�� �
�  �
� �
�� ��
�� �� ��!"��� �
�#�
���

$� %&' � ��������
�� � �
�� I = R � 
� ��� �()������ � 
����
� � ������
 *��+

�
 ��)
+ �����
� 	
� 
 ��	
����
 �� ����
� 	

������
� bε Γ��������� ���������� �

�
�(�� ��
�
����� 
 b0 	

��� ε→ 0 ,���(����� 	
� 
 Γ������������
 ����� ���

������
+ ������
��
����� �
 Γ������������
 ��
�
-� �� �
�� �� 	
� I � 
� ������
��

�����
��+ ���� �� %�'+ � ���������� �����
� 
���
� 
 Γ������������
 ������ .� �
��+

�� I � �����
��+ 
 �����������
 ��
�
 � ����� ��� �	
��
������ �� H1
0 (I × S)� .����

	
� ���� ��� ������ 	

��� I = R+ ����� �
�� � ���������� �����
� 
 Γ������������


��
�
 �
�(��� / ��������
��� � 
�������
�
 �� %&'�

.���
�
��� 	
� �� ������� ����������� ��������� �� %�' � %0' ��� �
��� �����#�

 ��� �
�
 
 �������� �� .����1��� �
 ��������
 ∂Ωε� �
�� ������� ���
�
������
�+ ���

�"�����+ �� 
 �������� �� .����1��� ����� �
(����
#�
 ���
 �������� �� ��
�
���

2��(����� 	
� 
 ���(��
��� �
� Γ������������
� ����� � ��
�
 ������
� 
���

�
� 
 �����������
 ����� ��� ����������� ��� ����
����� 
�����
���� �
�
 �� ����


 ��
� ��(�� 
 �����������
 �� 

���
����� ���� �� ������
 ���� 3

��� I = R

�� 

���
����� ����� ��� �"����� %�0'�

*4



�������� 	

Γ
����
������� 
 � ���
����� �


�������

���� �� ����	��
�� �
 ��
������� ���
� 
�
�
���� ��
�
��� �� �
�	�
��	�


�� �� �
��� �� �	������	� � ����
��� ��� 
���

−Δ− κ

|x| (0 
= κ ∈ R).

��	�	
����
� �
��� �	���
	� � �
�� ��	�	����	��
�� �� ���
� x = s ∈ R� ����	�����

��� � ����
��� Ḣ ����	�� ��� � �!" �
 ���	�
  #� $ ��� 
����
� H∗ 
�� 
 ����



��� �
� ��� ���%�	� ����
 ��&�����	
 '()"

domH∗ =
{
w ∈ L2(R\{0}) : w,w′ ∈ *� (R\{0}),

(
−w′′ − κ

|s|w
)
∈ L2(R)

}
,

�� +�� *�(R\{0}) ����

 � ������
� �
� &���,�� 
�����

���
� ���
%��
� ��

R\{0}�
* �	����
�	�
�� �� s = 0 - ��
	�� �� ��	

� �	�����,��� ��	��	�
����
� ���

�	�� 
 +���
�� �� ���� 
 �
�
%���
 �� ������

 ��./	�� 0 ��	���� 1���� +�� Ḣ


�� %��	��� �� ����	���	
 	��
	� 
 2� �/	�
�� 	���	

� �/
���,�� 
�
��
����

� �
��

�	�


� 
 ����
��� �����	
� 2���	��� '() ���� ��&�����	
� �
��� &
3�� �� ������

�
 �
�
�
��	3
��� �� 

	� �/
���,���

2� w ∈ domH∗� ��
�� �� �	�	
�� �

��
	� w(0±) = lim
s→0±

w(s) �/	�
�� � ���

#4



������� �	
	 κ 
= 0� �� ��
����

w̃(0±) := lim
s→0±

(w′(s)± κw(s) ln(±|κ|s)) ,

�	
��
 ������
 � ��� ������� �� ��������� 	����	�����	� HU �� Ḣ ��� �	
	���
��

�	�	� ��
 
	�
���� �����
�	� 2× 2� �� ���	� �	�	 �
	 
	�
�� �����
�	 U � domHU �

��
����� ��
 ���	� 	� ������� �� domH∗ ��� �	����	��


(I − U)

⎛
⎝ w̃(0+)

w̃(0−)

⎞
⎠ = −i(I + U)

⎛
⎝ −w(0+)

w(0−)

⎞
⎠ ,

�
 ��� I �����	 	 
	�
�� �������	�� 2 × 2� HU ��
 	 
��
	 	��� ��� Ḣ� ��


���
���� �� U = I ����
�� � ���
	��
  !�"# ������� �	 ��$��	 !%� �� ���	� 	

�������� �� &�
��'����

(��'��������� ���	� 	� ��������� 	����	�����	� �� Ḣ� ���
	 ������� � �	��


��	� ���	� 
��'�
 
��
�����	 � ���
� �� '��
�$)��� �����
������	�� *
 +!!,� �	
	

� �	�� κ > 0� ��� �������
	�� 	 ��$����� ����)���	 �� -	
������	���.

(Hεw)(s) = −w′′(s)− κ

|s|+ ε
w(s), domHε = H2(R),

� ��
����
	�� ���

������� ��	 Hε ���/�
$� �	
	 HD �� ������� ��
�� ��� 
����/����� ��	��� ε→ 0�

0	�� �	
��� �
 +!",� ��� ��
����
	�� ���

������� ��
 Hε ���/�
$� �	
	 HD �� ������� �����

� ��� 
����/����� ��	���

ε→ 0�

1 ����� ������/� � ������
	
 ���
� 	
$�
���� 	 �
 �� ��������	
 �
	 ��������

	����	�����	 �� Ḣ� &� �	��� �
 	
$�
���� ��� �������
	
�� 
	�� ���/�������

����	
����� 2���	��� ���	 ������� ��
 	� ����	� 	�
�����	�	� �� (	�3���� "� ����	

�
�����	 � �������
	
 � ���
� �� '��
�$)��� �
 �
 ���� �
 R
3 � �� �
������ ��

�����	
����� � ��	� ����
	
�� 
�����
	
 � ���
� �� '��
�$)��� �����
������	��

"!



�������� ���� 	�� 
��
��

� 	
 Ḣ � �
�
�����	� ��
 ������ ��� �
�
�����	���� ������

����� ������
 � �����	� ���� � 
���	� 	� �
������� 	
 ������ ���	�������

Fε(φ) :=

∫
Ωε

(
|∇φ|2 − λ0

ε2
|φ|2 − κ

|φ|2
|x|
)
dx, domFε = H1

0 (Ω
α
ε ),


� ��
 Ωα
ε � � �
���� 	
���	� ��� � �!� ��
"� ����# �� $� 
������� ���� 
��� ����%

�&��� ����� ������� ��
 � ����� ��
 	� ����
� ' Ωα
ε � r(s) := (s, 0, 0)� ������

�
���
����� � ����� 	
 (�	������� ���	��
������� �� ����� 	� 
��� x �� �����


ε → 0� )��� � ���� κ < 0� ��������� � �
���� 	
 Γ%����
������� ���� �*�
� � ���%

�
������� ����
 	�� �
����
��
� 	�� ��
��	��
� �������	�� �� ������ ���	������� Fε�

)��� � ���� κ > 0� ����� ���� � ����������	�	
 	� �
������� Fε ���� �*�
� 
���

����
������� ����
� +�������
��� ��
� 
� ��*�� �� ������ �� ����
��� 	
 ������%

�
���� � 
��
���� 	
 ,����(�
� � �
�
�����	�� 
 
��� � � ����� ��������� ������*��&��

�
��
 ���-�����

��� � ���� 	
��
����

$
��� �
&�� ����� �������� � ���� �
�������� �� �
"�� κ < 0� ���� � ����� ��


	� ����
� ' Ωα
ε � r(s) = (s, 0, 0) 
� ��� ��������	�	
� ����� ����� κ = −1� .�/
�	�

��� ��	��&� 	
 ������
��� ���� �� 0
&��  � � �*�
���

Gε(v) :=
1

ε2
Fε(v)

=

∫
R×S

(
|v′ +∇yv ·Ryα′|2 + 1

ε2

(|∇yv|2 − λ0|v|2
)
+

|v|2√
s2 + ε2y2

)
dsdy,


� ��
 domGε = H1
0 (R× S)� 1
�*�
��� ��
 v′ � � 	
����	� 	
 v 
� �
��&�� � s�

∇yv � � ���	�
��
 	
 v 
� �
��&�� � y = (y1, y2) 
 R � � �����/ 	
 ����&�� 	
���	�

�� ������ #2� +��� �*�
���	� �� 3����	�&�� 	
��
 ���*��(� y2 := y2
1 + y2

2�

,
������� ��� Hε �� �
��
������ ��
��	��
� ����%�	"����� �������	�� �� ���%

��� ���	������� Gε� $��
��� ��
 domHε = H1
0 (R × S) ∩ H2(R × S) ���� ��	�

ε > 0 ��
"� 0
&�� 4�5�! 
� 678��

 #



���������� Gε 	�
�	���� Gε(v) = ∞ ��
� v ∈ L2(R × S)\H1
0 (R × S)� ����

����� ������

G(v) =

⎧⎨
⎩ G0(ω) �� v = wu0, ω ∈ domG0

∞ c.c.

�� ���

G0(w) =

∫
R

(
|w′(s)|2 + (α′(s))2C(S)|w(s)|2 + |w(s)|

2

|s|
)
ds,

�

domG0 = {w ∈ H1(R) : w(0+) = w(0−)}.

� ��
����
� ������
�	� C(S) � ������� ��


C(S) :=

∫
S

|〈∇yu0, Ry〉|2dy,

� �
� ������� ������� �� ����� �
�����
��
 S� ��������� ��
 H0 � ���
���
 �����

������� ����	���� � G0� � ������ �� H0 ��
� ���	����� �� ���
 ����� ������

 ���� �������� � ����
�
 ��� Gε Γ�	����
�� � G �� ������� !�
�� � !
�	�� "��

����� 
������� �
����� �
��
������� � ��
�� ������ ��������

��� #�
� v ∈ H1
0 (R× S) ��
�

1

ε2

∫
S

(|∇yv(s, ·)|2 − λ0|v(s, ·)|2
)
dy ≥ 0 q.t.s.[s].

��� $ 	������� �� ��
�	%
�� �� !
�����
� ∂S ���
�	�

∫
S

∇y|u0|2dy = 0� &��� 	���

����'�	�� ∫
S

(u0∇yu0 ·Ry) dy = 0.

��� (��� vε ⇀ v �� L2(R × S) � (Gε(vε))ε ��� ����'�	�� 
������� �� L2(R × S)�

�����) (v′ε)ε � (∇yvε)ε ��� ����'�	��� 
�������� �� L2(R×S)� $���� ����) v′ε ⇀ v′)

∇yvε ⇀ ∇yv !
�	������ �� L2(R× S) � v ∈ H1
0 (R× S)�

�� !���) ����� ����
��
��� ���

lim sup
ε→0

∫
R×S

|v′ε +∇yvε ·Ryα′|2dyds ≤ lim sup
ε→0

Gε(vε) ≤ C,

**



���� ������ �	
���
�
 C > 0� 


lim sup
ε→0

∫
R×S

|∇yvε|2dyds = lim sup
ε→0

(∫
R×S

(|∇yvε|2 − λ0|vε|2
)
dyds+ λ0

∫
R×S

|vε|2dyds
)

≤ lim sup
ε→0

Cε2 + λ0 lim sup
ε→0

∫
R×S

|vε|2dyds <∞.

�	�	 α′ ∈ L∞(R)� �
��
 ��
 (v′ε,∇yvε) � ��� �
���
��� �������� 
� L2(R× S)�

�	���
�	� (vε)ε � ��� �
���
��� �������� 
� H1
0 (R×S) 
 �
��
 ��
 vε ⇀ v �
��
�

�� �������
��

��� �
�� vε → v 
� L2(R × S) �
 �	��� ��
 lim
ε→0

Gε(vε) < ∞� �
��	� �	�
�	�

���
�
� v(s, y) = w(s)u0(y) �	� w ∈ H1(R)�

 
 ���	� �
�	 !�
� �
�
��	� ∇yvε ⇀ ∇yv ������

�
 
� L2(R× S)� "�����∫
R×S

|∇yv|2dyds ≤ lim inf
ε→0

∫
R×S

|∇yvε|2dyds

≤ λ0 lim sup
ε→0

∫
R×S

|vε|2dyds = λ0

∫
R×S

|v|2dyds.

���
 ���	 ��
�	 �	� � ��	���
���
 ��� 
	� ��# ��
∫
R×S

(|∇yv|2 − λ0|v|2
)
dyds = 0.

�
�� f(s) =
∫

S
(|∇yv(s, ·)|2 − λ0|v(s, ·)|2) dy�  
��
 ��
 f(s) ≥ 0 � ��������


����� ������� ��
 f = 0 ������ $�%� �	���
�	� v(s, ·) � �� ���	�
�	� ���	����	 �

λ0 
 

��	 ��	�	���	
�� � u0� "����� �	�
�	� 
���
�
� v(s, y) = w(s)u0(y) �	�

w ∈ H1(R) &�
��
 ��
 v ∈ H1
0 (R× S)'�

"�	�� �
�	� �	
����
� �
 �
�	
����� �� �
���
�
� ��	�	����
��

�����	
��� �
� " �
���
��� Gε Γ(�	
�
��
 �	��
�

�
 ���� G�

�����	������� ��		� �
 &�
�	
����� 	 !�
� &�' �� ��	�	����	 )�)' �
�� vε → v


� L2(R × S)� �
 lim inf
ε→0

Gε(vε) = ∞� 

��	 lim inf
ε→0

Gε(vε) ≥ G(v)� ���	
*��	�

lim inf
ε→0

Gε(vε) < ∞� �����
�	 � ��� ��+�
���
���� �
 

�
��,��	� �	�
�	� ���	�
lim inf

ε→0
Gε(vε) = lim

ε→0
Gε(vε) < ∞� �
��� ��	���
���
� ��� 
 ��� ����� �
��
 ��


-.



v ∈ H1
0 (R×S)� v′ε ⇀ v′� ∇yvε ⇀ ∇yv ��������	� �� L2(R×S) � v(s, y) = w(s)u0(y)


��� ���
� w ∈ H1(R)� �� 
��	��
���� ����� �
� α ∈ L∞(R)� 	����

v′ε +∇yvε ·Ryα′ ⇀ v′ +∇yv ·Ryα′.

�������	�� 
������� � 
�� �
����
������ �� ����������� ���� vε → v ��

L2(R× S)� 	���� �
�

vε(s, y)→ w(s)u0(y) q.t.p.[(s, y)].

������
|vε(s, y)|2√
s2 + ε2y2

→ |w(s)u0(y)|2
|s| q.t.p.[(s, y)].

���� ���� �� ��	�


lim inf
ε→0

∫
R×S

|vε(s, y)|2√
s2 + ε2y2

dyds ≥
∫

R×S

lim inf
ε→0

|vε(s, y)|2√
s2 + ε2y2

dyds

=

∫
R×S

|w(s)u0(y)|2
|s| dyds.

����� �
������� � 
��
������� ��� � � �����
������ ������

lim inf
ε→0

Gε(vε) ≥ lim inf
ε→0

∫
R×S

(
|v′ε +∇yvε ·Ryα′|2 + |vε|2√

s2 + ε2y2

)
dyds

≥ lim inf
ε→0

∫
R×S

|v′ε +∇yvε ·Ryα′|2dyds+ lim inf
ε→0

∫
R×S

|vε|2√
s2 + ε2y2

dyds

≥
∫

R×S

|w′u0 + w∇yu0 ·Ryα′|2dyds+
∫

R×S

|wu0|2
|s| dyds

=

∫
R

(|w′|2 + (α′(s))2C(S)|w|2) ds+ ∫
R

|w|2
|s| ds.

����� �
� w ∈ H1(R) � ��	���� �

���� lim
ε→0

inf Gε(vε) <∞� ���
� �
�

∫
R

|w|2
|s| ds <∞.

������
��	����	� w(0+) = 0 = w(0−)� �
 �� �� w ∈ domG0� ���	��	��

lim
ε→0

inf
ε
Gε(vε) ≥ G0(w) = G(v).

!"



����� ����������	
	 � ���� ���
 �
 �	�������� ���
 �
	
 v(s, y) = w(s)u0(y)�

w ∈ domG0� ������� vε = v� �
	
 ���� ε� ������ vε → v �� L2(R × S)� ����

���	��
 �
 �����	�����
 �����
�


lim
ε→0

Gε(vε) = lim
ε→0

∫
R×S

(
|w′u0 + w∇yu0 ·Ryα′|2 + |wu0|2√

s2 + ε2y2

)
dyds

=

∫
R×S

(
|w′u0 + w∇yu0 ·Ryα′|2 + |wu0|2

|s|
)
dyds

=

∫
R

(
|w′(s)|2 + (α′)2C(S)|w(s)|2 + |w(s)|

2

|s|
)
ds = G0(w) = G(v).

���	
 ������� v 
= wu0� w ∈ domG0� ���
 vε → v �� L2(R × S)� ��	

�� ����� G(v) = ∞� ��	 �!�	� �
��� lim
ε→0

Gε(vε) = ∞� �� "
��� �!���#
���

lim inf
ε→0

Gε(vε) ≤ ∞� ��	 	��!��
��� 
���
 ����	�
��� ��	 v = wu0 ��� w ∈ domG0�

� $!� ��� ���		�� ��	�
���� lim
ε→0

Gε(vε) =∞ = G(v)�

������	
�� ��� � ��$!����
 Gε Γ%�����	�� "	
�
����� �
	
 G�


��������
��� ����� �� ��������	
	 � ���� ��
 �
 �	�������� ���
 ���
 vε ⇀ v

"	
�
����� �� L2(R × S)� �� lim inf
ε→0

Gε(vε) = ∞� ����� lim inf
ε→0

Gε(vε) ≥ G(v)�

�!���#
��� lim inf
ε→0

Gε(vε) < ∞� �
���
��� 
 !�
 �!&��$!����
� �� ������'	���

������� �!��	 lim inf
ε→0

Gε(vε) = lim
ε→0

Gε(vε) < ∞� ���
 �	��	���
�� ��� 	��!��
 $!�

v ∈ H1
0 (R× S)� v′ε ⇀ v′ � ∇yvε ⇀ ∇yv "	
�
����� �� L2(R× S)�

���� �� (
��� �!��	 v(s, y) = w(s)u0(y) ��� w ∈ domG0�

�
�� a > 0 �� ������ �
	
 v ∈ H1
0 (R× S)�

Ga
ε(v) =

∫
R×S

(
|v′ +∇yv ·Ryα′|2 + 1

ε2

(|∇yv|2 − λ0|v|2
)
+

|v|2√
s2 + ε2y2 + a

)
dyds.

����� $!� S ) !�
 	����� �����
�
� ���!� $!�

1√
s2 + ε2y2 + a

→ 1

|s|+ a

!��"�	������� �� R× S� ������

lim inf
ε→0

∫
R×S

|vε|2√
s2 + ε2y2 + a

dyds = lim inf
ε→0

∫
R×S

|vε|2
|s|+ a

dyds.

*+



����
1

|s|+ a
∈ L∞(R× S)� �������

1

|s|+ a
vε ⇀

1

|s|+ a
v

	
�����
�� �� L2(R× S)� ������

lim inf
ε→0

Ga
ε(vε) ≥ lim inf

ε→0

∫
R×S

(
|v′ε +∇yvε ·Ryα′|2 + |vε|2√

s2 + ε2y2 + a

)
dyds

≥ lim inf
ε→0

∫
R×S

|v′ε +∇yvε ·Ryα′|2dyds+ lim inf
ε→0

∫
R×S

|vε|2
|s|+ a

dyds

≥
∫

R×S

|v′ +∇yv ·Ryα′|2dyds+
∫

R×S

|v|2
|s|+ a

dyds

=

∫
R

(|w′(s)|2 + (α′(s))2C(S)|w(s)|2) ds+ ∫
R

|w(s)|2
|s|+ a

ds.

����� ���
|vε|2√
s2 + ε2y2

≥ |vε|2√
s2 + ε2y2 + a

,

�����

lim inf
ε→0

Gε(vε) ≥ lim inf
ε→0

Ga
ε(vε) ≥

∫
R

(|w′(s)|2 + (α′(s))2C(S)|w(s)|2) ds+∫
R

|w(s)|2
|s|+ a

ds.

���� a > 0 � �
���
�
���

lim inf
ε→0

Gε(vε) ≥ lim
a→0+

(∫
R

(|w′(s)|2 + (α′(s))2C(S)|w(s)|2) ds+ ∫
R

|w(s)|2
|s|+ a

ds

)
.

����� ��� w ∈ domG0� ���� ���
��� �� ��
��
��
��� ����
����

lim inf
ε→0

Gε(vε) ≥
∫

R

(|w′(s)|2 + (α′(s))2C(S)|w(s)|2) ds+∫
R

|w(s)|2
|s| ds = G0(w) = G(v).

���� �� ����
����� v /∈ A := {wu0 : w ∈ H1
0 (R)}� ��
 �� 
�!"�� G(v) =∞�

��#� P � �
�#���
 �
����
�� ���
� A⊥� ����� ���� ||Pv|| > 0 � Pvε ⇀ Pv� ��
��$

���
����
���

lim inf
ε→0

||Pvε|| ≥ ||Pv|| > 0.

%���
����� ���

lim inf
ε→0

Gε(vε) ≥ lim inf
ε→0

1

ε2

∫
R×S

(|∇yvε|2 − λ0|vε|2
)
dyds.

&'



����� ������	 � 
����� � ��	����
 ��	� φ ∈ H1
0 (R)� ��������� ��	 φ(0) �

���������� �� φ �� [u0]
 ���� Q � �	�����	 �	������
 ���	� [u0]
⊥ �� H1

0 (S)
 ���

��	����� ��� ��	� ϕ ∈ [u0]
⊥ �����

∫
S

|∇ϕ|2 ≥ λ1

∫
S

|ϕ|2
 ������ �������

1

ε2

∫
R×S

(|∇yvε|2 − λ0|vε|2
)
dyds

=
1

ε2

∫
R

(
||∇yvε(s)||2L2(S) − λ0||vε(s)||2L2(S)

)
ds

=
1

ε2

∫
R

(
||vε(s)||2H1

0 (S) − (λ0 + 1)||vε(s)||2L2(S)

)
ds

=
1

ε2

∫
R

(
||Qvε(s)||2H1

0 (S) + ||v(0)
ε ||2H1

0 (S) − (λ0 + 1)||vε(s)||2L2(S)

)
ds

=
1

ε2

∫
R

(
||∇yQvε(s)||2L2(S) + ||Qvε(s)||2L2(S) + ||∇yv

(0)
ε (s)||2L2(S)

+ ||v(0)
ε (s)||2L2(S) − λ0||vε(s)||2L2(S) − ||vε(s)||2L2(S)

)
ds

=
1

ε2

∫
R

(
||∇yQvε(s)||2L2(S) + ||∇yv

(0)
ε (s)||2L2(S) − λ0||vε(s)||2L2(S)

)
ds

≥ 1

ε2

∫
R

(
λ1||Qvε(s)||2L2(S) + λ0||v(0)

ε (s)||2L2(S) − λ0||vε(s)||2L2(S)

)
ds

=
1

ε2

∫
R

(λ1 − λ0)||Qvε(s)||2L2(S)

=
(λ1 − λ0)

ε2
||Pvε||2 ≥ (λ1 − λ0)

ε2
||Pv||2.

����	���� ��� λ0 < λ1 � ||Pv|| > 0� �����

lim inf
ε→0

1

ε2

∫
R×S

(|∇yvε|2 − λ0|vε|2
)
dyds ≥ lim

ε→0

(λ1 − λ0)

ε2
||Pv||2 =∞.

��	������

lim inf
ε→0

Gε(vε) ≥ G(v).

���� �� ���	� ���������� v = wu0 ��� w ∈ H1(R)\domG0
 ��� ��

lim inf
ε→0

Gε(vε) = ∞. !� "���� ���������� lim inf
ε→0

Gε(vε) < ∞
 �������� � ���

�������#����� �� ������$	��� � ���� �� ���� ��

∞ > lim
ε→0

Gε(vε) ≥ lim
a→0+

(∫
R

|w′ +∇yw ·Ryα′|2ds+
∫

R

|w|2
|s|+ a

ds

)
.

!���� ��� w ∈ H1
0 (R)\domG0�

lim
a→0+

∫
R

|w|2
|s|+ a

ds =∞,

%&



�� ����� ��	�� �	� 
�����
�����

����� �� ����� 
���	�� 	������ ��� 
�
� v ∈ L2(R × S)� ������ �	� ���

����
�� (vε)ε 
� ���	� ��� vε ⇀ v �	 v ∈ L2(R× S) � lim
ε→0

Gε(vε) = G(v). ��� ����

����� � ��	���� �� ����� � 
� 
�	��������� 
� ���������� ���������

��	 ��	�� ��� domG0 = {w ∈ H1(R) : w(0+) = 0 = w(0−)}� !�����	��

��� D := {wu0 : w ∈ domG0}�
" �����
�� ������
����� H0 ����
��
� � G0 � � �����
�� #$�%& 
� �'���� $(�

�� ����� � �������� ������
����� 
� Ḣ 
�	 
��
��)�� 
� !���
*��� �� �����	� +���


�	��������� �� ��
����� �� ,���� ��$ 
� ����
�
��

��	 ��	�� ��� Hε 
�����	 �� �����
����� �����
���� ������
������ ����
��

�
�� �� ���	�� Gε� ����
��
� � -����	� ��% ��
�	�� 
��
���� ����� ����
����

�������
� 
���� �����.

���	�
� ��� � ��	/��� 
� �����
���� Hε 
������� ���� H0 �� �����
� ����� 
��

����������� ����
� ε→ 0� ���� ���
���	����� ���� P � �������� ��������� �� ��
*�


� D �	 L2(R× S)� �����

s− lim
ε→0

(Hε + iI)−1ψ = (H0 + iI)−1Pψ, ∀ψ ∈ L2(R× S).

0��
��/	�� ��� �� ���
���� 
� 
��1��	���� 
� '��	� 
� *�
������� �� 
���

���������� � �������� ������
����� 
� #$��& #���� �'��$%& ����
����
� #�����
� ������

����	����� �
�	�& � � 
� !���
*����

��� � ���� �	
�	���

2���� ����� ��	�� �������� � 
��� ��������� �� ����� κ > 0� 3�� ��	���
�
�
�

��	�� 
����
���� κ = 1/4� 2� �������� �� �������
�� �� ��������4�	 ���� ��
�

κ > 0� 5��
���	���� 
����
���	�� � ��	/��� 
� �����
���� ������
������

Hεψ = −Δψ − 1

4

ψ

|x| + aψ, domHε = H2(Ωε) ∩H1
0 (Ωε), #(�$&

%6



�� ��� a � ��� ��	
��	�� ��	��	
�	�� � 
�� �
����
�� ��

 ��
�	��� ��
�� 
����

Ωε � ���
�� ����� ����� ������� ��� r(s) = (s, 0, 0) � α(s) = 0 ���� ���� s ∈ R�

�
  ����
 �������
��
 �

��
���
! �� ��� � ����	�� �� ���
���

 � �������
"��#�


	���

��
�
! 
��

bε(ψ) =

∫
R×S

(
|ψ′|2 + 1

ε2

(|∇yψ|2 − λ0|ψ|2
)− 1

4

|ψ|2√
s2 + ε2y2

+ a|ψ|2
)
dyds

�� ��� dombε = H1
0 (R× S)�

$���� uj ∈ H1
0 (S) � λj ∈ R �j ∈ N� �
 ���� �	�#�
 	�����
"���
 � �
 ����%

������
 �����
��	��	��
 �� &�����
�	� �	����
��� ��
��
�� ' ���
�� S ��� ��	�
�#�


�� (
�
����� 	�  ��	��
�� ∂S� ) ��	���
�� ��� 0 < λ0 < λ1 ≤ λ2 ≤ · · ·� &��*����


��� λ0 � �� ��������� 

����
�

���� ��� $��� ψ(s, y) = w(s)uj(y) ��� w ∈ H1(R) � j ≥ 0� + �
�
��

lim
ε→0

bε(ψ)

�,

�� � � -	
�� 
�! � 
���	�� 
�! j = 0 � w(0+) = 0 = w(0−)�

���	
��
���	� $��� ψ = wu0 ��� w ∈ H1(R)� .	���!

lim
ε→0

bε(wu0) = lim
ε→0

∫
R×S

(
|w′|2|u0|2 − 1

4

|w|2|u0|2√
s2 + ε2y2

+ a|w|2|u0|2
)
dyds

=

∫
R

(
|w′|2 − 1

4

|w|2
|s| + a|w|2

)
ds


�! � 
���	�� 
�! w(0+) = 0 = w(0−)� /�
� ��	����
�! lim
ε→0

bε(wu0) = −∞�

����� 
���	����
 ψ = wuj ��� w ∈ H1(R) � j 
= 0� .	���!

lim
ε→0

bε(wuj)

= lim
ε→0

∫
R×S

(
|w′|2|uj|2 + (λj − λ0)

ε2
|w|2|uj|2 − 1

4

|w|2|uj|2√
s2 + ε2y2

+ a|w|2|uj|2
)
dyds.

+ �����
�� ����� ��	����� � −1
4

∫
R

|w|2
|s| 
� w(0+) = 0 = w(0−) �� �
�����

��	�� ���	�� (−1/ε) ��
� ��	����
� � .� ��*�
 �
 ��
�
! lim
ε→0

bε(wuj) = +∞�

01



���� A := {wu0 : w ∈ H1(R), w(0±) = 0} � H0 := A � �� ����� � 	�
�� �� A


�
 � ���
� �������� �� L2(R × S)� ������ ��� 
�
�����
����� ��� ��
���� ��

��
��������� �� ��
� �
�
� ��� 	��
�� ��������
�� ��� ����� ±∞�� �� ����� �

������ ��� ���������
�� ����� ������� �� ������ ��  ��!��� H0�

"���
�� �!������#��$

��� " 
�������� a > 0� �� ��%����� �� (4.1)� & ��
��� �� 
��� ���
1

4|s| ≤
1

4|s|2 +a�
���� ���� s 
= 0� " 	��
� ��������
�

b(w) :=

∫
R

(
|w′|2 − 1

4

|w|2
|s| + a|w|2

)
ds


�


domb = {w ∈ H1(R) : w(0−) = 0 = w(0+)}

& �������� � 	�
����� ' 	��� �� ��� �������� �� ���� � ������������ ��  ���( �����

����� "�) �� "�*���
���

��� +��� 
��� ε > 0 � w ∈ H1(R)�

bε(wu0) =

∫
R×S

(
|w′|2|u0|2 − 1

4

|w|2|u0|2√
s2 + ε2y2

+ a|w|2|u2
0|
)
dyds

� �� ����� �
 ������ dombε = A�

��� " 	��
� ��������
� bε & 	�
���� ���� 
��� ε > 0� �� 	���� ���� (wnu0) ⊂
dombε �� 
��� ��� wnu0 → ψ �
 H0 � b

ε(wnu0 − wmu0) → 0 �m,n → ∞��
,�
�������
���� ψ = wu0 
�
 w ∈ H1(R)� -�
!&
 ��
�� wn → w �
 L2(R)�

'!�����
�� ��� (wn) ⊂ domb�

bε(wnu0 − wmu0) ≥ b(wn − wm) ≥ 0

� 
����������
���� b(wn − wm) → 0� m,n → ∞� ����� ��� b & 	�
����� ��
��
w ∈ domb� +�������� wu0 ∈ dombε� "���� & �� �!������ ��� bε(wnu0 − wu0)→ 0�

��� 0 < ε1 < ε2 ⇒ bε1 < bε2 �

��� +��� 
��� ε > 0 �.���� �
 �������� Tε ≥ 0� ����/�������� ����
���� � bε � 
�


domTε ⊂ A.

01



��� ��������

b0(wu0) =

∫
R×S

(
|w′|2|u0|2 − 1

4

|w|2|u0|2
|s| + a|w|2|u0|2

)
dyds

domb0 = A. b0 ≥ 0 � b0 	 
���
�
� ������ �� ����
��� T0 ≥ 0� 
����
������� 
����

��
�� 
 b0 � ��� domT0 ⊂ A� ������� ��� ������� ��������
� 
 
���
 ��
������


b0 ��� b ���
 
����
� � w �→ wu0 !w ∈ domb"�
��� #
�
 �
�
 ε ≥ 0� ���������� 
� 
���
� ��
������
� bε �����
��� bε(ψ) = +∞
�� ψ ∈ H0\A�
��� $��
 P1 
 ������ � ����%��
� ����� A� #
�
 �
�
 ε ≥ 0� �����
���

R̃λ(Tε) = (Tε + λI)−1P1 (λ > 0).

#
������ ��� � 
� ����� �������
� ������
�� ����
 ��� ��

���	�
� �
� R̃−λ(Tε) ������%� 
��������� 
 R̃−λ(T0) �� H0�

��
����	����� ����� �� #��� &��
 '�(� �
�
 wu0 ∈ A �
��

lim
ε→0

bε(wu0) = b0(wu0).

����� �� #��� ����� � � ����� ��� 0 ≤ bε1 ≤ bε2 !�
�
 ε1 < ε2" ����� ���

0 ≤ b0 ≤ bε1 ≤ bε2 � )������ λ > 0� #��� &��
 *+�'�' �� ,'-

0 ≤ R̃−λ(Tε2) ≤ R̃−λ(Tε1) ≤ R̃−λ(T0).

.�����

0 ≤ lim
ε→0
〈R̃−λ(Tε)ϕ, ϕ〉 = sup

ε
〈R̃−λ(Tε)ϕ, ϕ〉 ≤ 〈R̃−λ(T0)ϕ, ϕ〉

� � ������ 	 ����� �
�
 �
�
 ϕ ∈ H0� #�� ���
��/
� �� ������ � ������

t(ϕ, ψ) := lim
ε→0
〈R̃−λ(Tε)ϕ, ψ〉, ∀ϕ, ψ ∈ H0.

0���

t(ϕ, ϕ) ≤ 〈R̃−λ(T0)ϕ, ϕ〉 ≤ ||R̃−λ(T0)|| ||ϕ||2, ∀ϕ ∈ H0,

'1



����� ��� t � ��� 	
��� ������
����� 
�������� ������ ������ �� ����
 
�����
�


������
 � ���
�������
 C ∈ B(H0) �� 	
��� ��� 〈Cϕ,ψ〉 = t(ϕ, ψ)� ∀ϕ, ψ ∈ H0�


� �����

〈Cϕ,ψ〉 = t(ϕ, ψ) = lim
ε→0
〈R̃−λ(Tε)ϕ, ψ〉 ∀ϕ, ψ ∈ H0.

�
����� 
�����������

�� 〈Cϕ,ψ〉 ≤ 〈R̃−λ(T0)ϕ, ϕ〉� ∀ϕ ∈ H0�

��� C � ������!��
� "� 	��
� ���
�#��
� Cϕ = 0 ���� �
��� ϕ ∈ H0� $���

ε0 > 0 %���
� ���
� 0 = 〈Cϕ,ϕ〉 ≥ 〈R̃−λ(Tε0)ϕ, ϕ〉� &��� φ = R̃−λ(Tε0)ϕ� "���� ���

Tε0 � �
�����
� ���
� 0 ≥ 〈φ, (Tε0+λI)φ〉 ≥ λ||φ||2� ������ φ = 0 � �
��������������

ϕ = 0�

&��� bS � 	
��� ������
����� ������ �
� S := C−1− λI� "� ��
��'
 R̃−λ(Tε) ≤
C ≤ R̃−λ(T0) ���
� b0 ≤ bS ≤ bε� $�

 ����� � ����� ��� bS = b0� 
� ����� T0 = S�

������

〈R̃−λ(T0)ϕ, ψ〉 = lim
ε→0
〈R̃−λ(Tε)ϕ, ψ〉, ∀ϕ, ψ ∈ H0,

� �
��
�!�
� ��� R̃−λ(Tε) �
������ 	��������� � R̃−λ(T0) �� H0�

����� �� (��
� �
����� � �
�����)���� 	
��� �
� ���

������� "�%���
�

Aε := R̃−λ(T0)− R̃−λ(Tε), domAε = H0,

� �
���
� ��� (Aε) � ��� ����)���� �� 
�����
��� �
�����
�� ���
�������
� � ���

�
������� 	��������� � *��
� "�%���
�

aε(ϕ, ψ) = 〈ϕ,Aεψ〉 ϕ, ψ ∈ H0.

aε � � 	
��� ������
����� �
������ ������ �
� Aε� +�������
� ��� ||aε|| ≤ 2

|λ| � $
�

,���#-�&�#.��*

||Aεϕ||4 = |aε(Aεϕ, ϕ)|2 ≤ |aε(ϕ)| |aε(Aεϕ)|
≤ |〈Aεϕ, ϕ〉| ||aε|| ||Aεϕ||2 ≤ 2

|λ| |〈Aεϕ, ϕ〉| ||Aεϕ||2,

�
��������������

||Aεϕ||2 ≤ 2

|λ| |〈Aεϕ, ϕ〉| → 0

/0



������ ε→ 0� ��	� 
��� ϕ ∈ H0� ��	
��
�� R̃−λ(Tε) 
����	�� ��	
����
� � R̃−λ(T0)

�� H0�

���
������ ��� �� �	�
���� �� 
��������
� �� �
��� �� ���	������ �� 
���

�
	�
���� � ��
����� ��
�������
� ��  !�"#  ���� ����!$# ����
������  ������� ������

�	�����
�� �
���# % � �� &�	�
���
�

''



�������� 	

��
��
��
��� �
���
�� � ��
������

���
�

���� Ωα
ε � �����	 
����
� 
	� ����� �� 
����� �� � ����� ��
����	 ���	� ��������

	 �	�
	�������	 
� ��� 
�������� ����� �� �	���
	 �� Ωα
ε �	� I = R� �	���

������� ���� �	���
� 
��� 	 ����
	 
� ������� 
� �	���� ���
������� 
����
�� 
	�

��� �! 	� ����!

âε(ψ) =

∫
R×S

[
1

βε

|ψ′ + (∇yψ ·Ry)(τ + α′)|2 + βε

ε2

(|∇yψ|2 − λ0|ψ|2
)
+ βεc|ψ|2

]
dyds.

"� # $ �	� �	����
	 ��� � ����%���� âε Γ&�	������ �	�������� � ���������� �

b0(w) =

∫
R

[
|w′|2 +

(
C(S)(τ(s) + α′(s))2 − k(s)2

4
+ c

)
|w|2

]
ds,

����
	 ε → 0� '	�	 �	�����%���� 
���� ���	! ���&�� � �	�����%���� �	��� 
	� ��&

�	������� 
	� 	
���
	��� ���	���
	�� ( �	��� �	����)��*�	 ����� ��
����	 + �	�����

��� � �	�����%���� ����� 
	
� ��� ��)������
� 
��� �	�����%���� ����	��� 
	� ���	�&

������� ( �+����� ���
� ���� ��	 + ���� � Γ&�	�����%����� ,� ���	! 	 -�	���� ���

������� �
���� � �	�����%���� �	��� 
	� ���	�������� �	 ������	! � �
+�� 
� ��
�*�	


� 
������	 + �	�������� �����.�
��

/ 



��� �����	
��

����������� 	� 
���	� ��	
�����	� 
����
	� ��� ����� ����	 �����	 ����

âε(ψ) =

∫
R×S

[
1

βε

|ψ′ + (∇yψ ·Ry)(τ + α′)|2 + βε

ε2

(|∇yψ|2 − λ0|ψ|2
)
+ βεc|ψ|2

]
dyds,

domaε = H1
0 (R× S)�

 ����
�!����

aε(ψ) :=

∫
R×S

[
|ψ′ + (∇yψ ·Ry)(τ + α′)|2 + βε

ε2
(|∇yψ|2 − λ0|ψ|2) + c|ψ|2

]
dyds,

domaε = H1
0 (R× S)� " 
�
����#	 ����� âε � aε ���� 	���	� �� 
	��� 1/βε ��������$

�	�
� � �������� ����� 
����� 
	 ������	� � � 
	��� βε ���������	�
� � %����� �����


����� 
	 ������	��

&������� �	��'� 	 
���	 ��	
�����	 (���
��������	�)

b(w) =

∫
R

{
|w′|2 +

[
(τ(s) + α′(s))2C(S)− k(s)2

4
+ c

]
|w|2

}
ds,

domb = H1(R)�

&����	��� ��� Âε* Aε � B �� ����	
���� 	���$	
������ 	�����	
�� 	� 
���	�

��	
�����	� âε* aε � b* ���������	������ &��
� ��� Âε* Aε � B �+� ����	
����

���������* �	�	 �	
	 ξ > 0* ����� −ξ ∈ ρ(Âε)* −ξ ∈ ρ(Aε) � −ξ ∈ ρ(B)* �� ���	* −ξ
�������� 	� �������� ���������� 
�� ����	
�����

" �������#+� 	�	�,� ' ��	 	���,��	#+� ��� ����� �	���	����� 
� 
	�� 
� ���

βε �������� ���
��������� 	 1 ��	�
� ε→ 0�

���������� 	
� &	
� ξ > 0* �,����� ε′0 > 0 � C5 > 0 
� 
���	 ���

||(Âε + ξI)−1 − (Aε + ξI)−1|| ≤ C5ε, ∀ε < ε′0.

�
����������� -��� βε → 1 ���
��������� ��	�
� ε → 0* �,����� ε1 > 0 �

�����	���� σ1, σ2 > 0 
� ��
� ��� σ1 ≤ βε ≤ σ2* ∀ε < ε1� "����*

(âε + ξ)(ψ) ≥ σ1ξ||ψ||2 � (aε + ξ)(ψ) ≥ ξ||ψ||2,

.�



���� ���� ε < ε1� ��	
��
�	����	���

||(Âε + ξI)−1|| ≤ 1

σ1ξ
� ||(Aε + ξI)−1|| ≤ 1

ξ
,

���� ���� ε < ε1�

��
�� �
� k ∈ L∞(R)� y ∈ S � S � 
�� ������ ��������� ���
��� ε0 > 0

�ε0 < ε1� � ��	
��	��
 C1, C2 > 0 �� ���� �
�∣∣∣∣
(
1

βε

− 1

)∣∣∣∣ =
∣∣∣∣εk(s)(y · zα(s))

βε

∣∣∣∣ ≤ C1ε,

�

(c+ ξ)|(βε − 1)| ≤ C2ε,

���� ���� ε < ε0� ��
��
 ��	�����


|(âε + ξ)(ψ)− (aε + ξ)(ψ)|
≤

∫
R×S

∣∣∣∣
(
1

βε

− 1

)∣∣∣∣ |ψ′ + (∇yψ ·Ry)(τ + α′)|2dyds

+

∫
R×S

(c+ ξ)|(βε − 1)||ψ|2dyds

≤ C1ε

∫
R×S

|ψ′ + (∇yψ ·Ry)(τ + α′)|2 + C2ε

∫
R×S

|ψ|2dyds
≤ C3ε(aε + ξ)(ψ)

���� ���
�� ��	
��	�� C3 > 0� ��	�� �

���

(1− C3ε)(aε + ξ)(ψ) ≤ (âε + ξ)(ψ) ≤ (1 + C3ε)(aε + ξ)(ψ),

���� ���� ε < ε0� � �������� ��
��
������ ������� �
� � ��

� �� �	��	���� ε′0 > 0

�ε′0 < ε0� � 
�� ��	
��	�� C4 > 0 �� ���� �
�

(aε + ξ)(ψ) ≤ C4(âε + ξ)(ψ),

���� ���� ε < ε′0�

��	�����
 ��� âε(ψ1, ψ2) � aε(ψ1, ψ2) �
 !����
 "���	����
 �

������
 �
 !��#

��
 �
���$����
 âε � aε ��
����� ���	��� � ��
��
������ �� ��%&��' ���� !����


"���	����
 ��' �
�

|(âε + ξ)(ψ1, ψ2)| ≤ [(âε + ξ)(ψ1)]
1/2[(âε + ξ)(ψ2)]

1/2,

()



|(aε + ξ)(ψ1, ψ2)| ≤ [(aε + ξ)(ψ1)]
1/2[(aε + ξ)(ψ2)]

1/2,

���� ���� ψ1, ψ2 ∈ H1
0 (R × S)� �		
�� 
	���� �	 �	�
���
��	 ��
��� ���� ����

ψ1, ψ2 ∈ H1
0 (R× S) ����	

|〈(Âε + ξI)1/2ψ1, (Âε + ξI)1/2ψ2〉 − 〈(Aε + ξI)1/2ψ1, (Aε + ξI)1/2ψ2〉|
= |(âε + ξ)(ψ1, ψ2)− (aε + ξ)(ψ1, ψ2)|
≤ C3ε[(aε + ξ)(ψ1)]

1/2[(aε + ξ)(ψ2)]
1/2

≤ C3

√
C4ε[(aε + ξ)(ψ1)]

1/2[(âε + ξ)(ψ2)]
1/2.

������� ψ1 = (Aε + ξI)
−1f � ψ2 = (Âε + ξI)

−1g� �� ��� f, g ∈ L2(R× S) ���

	
��

�
�	�� ��
����

|〈(Âε + ξI)−1f, g〉 − 〈(Aε + ξI)−1f, g〉| ≤ C3

√
C4ε

[
〈(Âε + ξI)−1g, g〉〈(Aε + ξI)−1g, g〉

]1/2

≤ C3

√
C4

ξ
√
σ1

ε||f || ||g||,

�	
	 
��� ε < ε′0� ��

	�
��

||(Âε + ξI)−1 − (Aε + ξI)−1|| ≤ C5ε,

�	
	 
��� ε < ε′0� �� ��� C5 =
C3

√
C4

ξ
√
σ1

�

������ 	� 
��
��	 	���	� �� 	��
	 �� ��	�
�� �	��� 	�	���	
 	 ��������	 ��

��
�	� ��	�
�
��	� (aε)ε �� ��� �� (âε)ε� ��������	��� �� �������� �� �
������ ��


������ �� ���������

��� �����	
���
� ��
��	��

�������
���� 	 ������
� �������

ϕ0(s, y) := k(s) (cosα(s))χ1(y)− k(s) (senα(s))χ2(y),  !�"#

�� ��� χ1 � χ2 ��� �����$�� ��  %�&#  ��'	 ����(&# �	
	 ξ1 = (1, 0) � ξ2 = (0, 1)


�����
��	���
��

)&



���� ���� ε > 0� ��	� Lε 
 �����
��
 �� L2(R × S) �����
 
���� ������� ��

�
���

ψ(s, y) = w(s)u0(y) + εw(s)ϕ0(s, y), w ∈ L2(R).

�������
� ��� u0 � � ���
�����
 �
����

������ �
 
������
 ���
���
� �
 ��
���

����
 �� ��������� �� H1
0 (S)�

���� ���� ε > 0 �� ���
� �� ��������� �
���� �����!����� �� Lε∩H1
0 (R×S)"

bε(wu0 + εwϕ0) := b(w), w ∈ H1(R).

#����� 
��� ψ ∈ Lε ∩H1
0 (R× S)� ������
� � �
����
 b(ψ) �� ��$ �� b(w) 
�

bε(ψ)� %
��������
� ������ 
 �������� �����
��
 �� L2(R× S)"

L := {wu0 : w ∈ L2(R)}.

&
��
 
�����
�� ��������
 ����� ��
'���
 � ��� ������
 �� �������
 ��������

�� �������� �
�����(���� �� 

����
���"

������� ��	 ���
 ξ > 0� �)����� ε2 > 0 � D10 > 0 �� �
�
 ���

∣∣∣∣((Aε + ξI)−1 ⊕ 01

)− ((B + ξI)−1 ⊕ 02

)∣∣∣∣ ≤ D10ε, ∀ε < ε2,

�� ��� 01 � 
 

����
� ���
 �
 �����
��
 L⊥ε � 02 � 
 

����
� ���
 �� L⊥�


�����
������ *
���
� ψ ∈ Lε ∩H1
0 (R× S)� +�������
�

ψ(s, y) = w(s)u0(y) + εw(s)ϕ0(s, y),

�
� w ∈ H1(R)� ���� �� ����
 �� ϕ0(s, y) 

���
� ��� ���∫
S

ϕ0(s, y)u0(y)dy = 0 �

∫
S

ϕ′0(s, y)u0(y)dy = 0. ,-�./

������
 �� �
��� ���

∫
S

u0〈∇yu0, Ry〉dy = 0 � �� ���������� �� ,-�./� ������

�!����
� �
����� ��� ∫
R×S

|ψ′ + 〈∇yψ,Ry〉(τ + α′)|2dyds

01



=

∫
R×S

|w′u0 + εw′ϕ0 + εwϕ′0 +w〈∇yu0, Ry〉(τ + α′) + εw〈∇yϕ0, Ry〉(τ + α′)|2dyds

=

∫
R×S

dyds
(
|w′|2|u0|2 + ε2|w′|2|ϕ0|2 + ε2|w|2|ϕ′0|2 + |w|2|〈∇yu0, Ry〉|2(τ + α′)2

+ ε2|w|2|〈∇yϕ0, Ry〉|2(τ + α′)2 + 2εw′wu0〈∇yϕ0, Ry〉(τ + α′)

+ 2ε2w′wϕ0ϕ
′
0 + 2εw′wϕ0〈∇yu0, Ry〉(τ + α′)

+ 2ε2w′wϕ0〈∇yϕ0, Ry〉(τ + α′) + 2ε|w|2ϕ′0〈∇yu0, Ry〉(τ + α′)

+ 2ε2|w|2ϕ′0〈∇yϕ0, Ry〉(τ + α′)

+ 2ε|w|2〈∇yu0, Ry〉〈∇yϕ0, Ry〉(τ + α′)2
)
.

���������� 	
� ���
� 
� ������
�� �
 �
������ y ��� �
����� �����
�
� �
 �
�

������ s� ��� �������� 
 �
����

g(s) :=

∫
S

ϕ0(s, y)〈∇yu0, Ry〉 dy

= k(s) cosα(s)

∫
S

χ1(y)

(
∂u0

∂y1

y2 − ∂u0

∂y2

y1

)
dy

− k(s) sinα(s)

∫
S

χ2(y)

(
∂u0

∂y1

y2 − ∂u0

∂y2

y1

)
dy

� �����
�
 �� R ����� 	
� ||k||∞ <∞�
����

∫
S

|u0|2dy = 1 � C(S) =

∫
S

|〈∇yu0, Ry〉|2dy� ����������
∫

R

(|w′|2 + (τ(s) + α′(s))2C(S)|w|2) ds
=

∫
R×S

(|w′|2|u0|2 + |w|2|〈∇yu0, Ry〉|2(τ(s) + α′(s))2
)
dyds.

 �
��� 
 ��

��
�� 
���
 � �
��� ���� � 	
� �������
� ��� 
 �
���� g�

������� ��� 	
� ������� �����
���� D1, D2, D2 > 0 �� ���� 	
�∣∣∣∣
∫

R×S

|ψ′ + 〈∇yψ,Ry〉(τ + α′)|2dyds−
∫

R

|w′|2 + (τ(s) + α′(s))2C(S)|w|2ds
∣∣∣∣

=
∣∣∣ ∫

R×S

dyds
(
ε2|w′|2|ϕ0|2 + ε2|w|2|ϕ′0|2 + ε2|w|2|〈∇yϕ0, Ry〉|2(τ + α′)2

+ 2εw′wu0〈∇yϕ0, Ry〉(τ + α′)

!"



+ 2ε2w′wϕ0ϕ
′
0 + 2εw′wϕ0〈∇yu0, Ry〉(τ + α′)

+ 2ε2w′wϕ0〈∇yϕ0, Ry〉(τ + α′) + 2ε|w|2ϕ′0〈∇yu0, Ry〉(τ + α′)

+ 2ε2|w|2ϕ′0〈∇yϕ0, Ry〉(τ + α′)

+ 2ε|w|2〈∇yu0, Ry〉〈∇yϕ0, Ry〉(τ + α′)2
)∣∣∣

≤ D1ε

∫
R

|w′|2ds+D2ε

∫
R

|w|2ds+D3ε

(∫
R

|w|2ds
)1/2(∫

R

|w′|2ds
)1/2

.

��� ����� ����	 �
� �����
��
��� �
����	 ������ � ����
��� �� ϕ0(s, y)	 
�����

���∫
R×S

[(|∇yϕ0|2 − λ0|ϕ0|2) + 2k(s)zα(s) · ∇yu0ϕ0]|w|2dyds = −
∫

R

k(s)2

4
|w|2ds.

��
 � 
�������� ��

�	 ����
�� ��� ��� ��
��� �
� ��������� D4 > 0 ��


��� ���∣∣∣∣
∫

R×S

βε

ε2
(|∇yψ|2 − λ0|ψ|2)dyds+

∫
R

k(s)2

4
|w|2ds

∣∣∣∣
=

∣∣∣∣
∫

R×S

βε(s, y)[(|∇yϕ0|2 − λ0|ϕ0|2) + 2k(s)zα(s) · ∇yu0ϕ0]|w|2dyds

+

∫
R

k(s)2

4
|w|2ds

∣∣∣∣
=

∣∣∣∣
∫

R×S

εk(s)〈y, zα(s)〉[(|∇yϕ0|2 − λ0|ϕ0|2) + 2k(s)zα(s) · ∇yu0ϕ0]|w|2dyds
∣∣∣∣

≤ D4ε

∫
R

|w|2ds.

����
���� ���
�� � ���� �� ���

h(s) := k(s)

∫
S

〈y, zα(s)〉
[
(|∇yϕ0|2 − λ0|ϕ0|2) + 2k(s)zα(s) · ∇yu0ϕ0

]
dy,

� �
� ������ �


���� �
 R�

��
 �� ���

��
��� ��

�	 ��
���
 ���������� D5, D6, D7 > 0 �� 
��� ���

|(aε + ξ)(ψ)− (b+ ξ)(ψ)|
=

∣∣∣∣
∫

R×S

|ψ′ + 〈∇yψ,Ry〉(τ + α′)|2dyds−
∫

R

(|w′|2 + (τ(s) + α′(s))2C(S)|w|2) ds
��



+

∫
R×S

βε(s, y)

ε2

(|∇yψ|2 − λ0|ψ|2
)
dyds+

∫
R

k(s)2

4
|w|2ds

+

∫
R×S

(c+ ξ)|ψ|2dyds−
∫

R

(c+ ξ)|w|2ds
∣∣∣∣

≤ D5ε

∫
R

|w′|2ds+D6ε

∫
R

|w|2ds+D7ε

(∫
R

|w|2ds
)1/2(∫

R

|w′|2ds
)1/2

.

����� �����	�
�� ���∫
R

|w′|2ds ≤ (b+ ξ)(w) �

∫
R

|w|2ds = 1

ξ

∫
R

ξ|w|2ds ≤ 1

ξ
(b+ ξ)(w).

���

� ��
��� �
� ��������� D8 > 0� �� ���
� ���

|(aε + ξ)(ψ)− (b+ ξ)(ψ)|
≤ D5ε(b+ ξ)(ψ) +

D6

ξ
ε(b+ ξ)(ψ) +

D7

ξ1/2
ε((b+ ξ)(ψ))1/2((b+ ξ)(ψ))1/2

≤ D8ε(b+ ξ)(ψ),

�� �����

(1−D8ε)(b+ ξ)(ψ) ≤ (aε + ξ)(ψ) ≤ (1 +D8ε)(b+ ξ)(ψ).

������� ���� � ��

�
�� ���
�������� ��

�� � �����	�� ��������� ε2 > 0 ��


��� ���

(b+ ξ)(ψ) ≤ D2
9(aε + ξ)(ψ), ∀ε < ε2,

���� ����
� ��������� D9 > 0� �����

|(aε + ξ)(ψ)− (b+ ξ)(ψ)| ≤ D8D9ε((b+ ξ)(ψ))1/2((aε + ξ)(ψ))1/2.

��
���
�� ��� ����
�� ����� b ��
� �
� ���
� �������
�� �
 Lε ∩H1
0 (R× S)�

�� aε(ψ1, ψ2) � b(ψ1, ψ2) ������
 �� ���
�� �
�
������ �����
���� �� ���
��

�������
��� aε � b �������
	�
����� � ���
�������� �� ��� ��! �
! ���

|(aε + ξ)(ψ1, ψ2)| ≤ [(aε + ξ)(ψ1)]
1/2[(aε + ξ)(ψ2)]

1/2,

|(b+ ξ)(ψ1, ψ2)| ≤ [(b+ ξ)(ψ1)]
1/2[(b+ ξ)(ψ2)]

1/2,

"#



���� ���� ψ1, ψ2 ∈ Lε ∩ H1
0 (R × S)� �		
�� ���� 
��� ψ1, ψ2 ∈ Lε ∩ H1

0 (R × S)�

����	

|〈(Aε + ξI)1/2ψ1, (Aε + ξI)1/2ψ2〉 − 〈(B + ξI)1/2ψ1, (B + ξI)1/2ψ2〉|
= |(aε + ξ)(ψ1, ψ2)− (b+ ξ)(ψ1, ψ2)|
≤ D8D9ε[(aε + ξ)(ψ1)]

1/2[(b+ ξ)(ψ2)]
1/2.

������� ψ1 = (B + ξI)−1f � ψ2 = (Aε + ξI)−1g� �� ��� f, g 	�� ������	

���
����
�	 �� 
������� 
����� �� �������� Aε� ������	

|〈(A+ ξI)−1f, g〉 − 〈(B + ξI)−1f, g〉| ≤ D8D9ε
[〈(Aε + ξI)−1g, g〉〈(B + ξI)−1f, f〉]1/2

≤ D8D9ε||(Aε + ξI)−1||1/2||(B + ξI)−1||1/2||f || ||g||
≤ D10ε||f || ||g||,

���� ���� ε < ε2� �� ��� D10 = D8D9/ξ� ���������

||(Aε + ξI)−1 ⊕ 01 − (B + ξI)−1 ⊕ 02|| ≤ D10ε,

���� ���� ε < ε2�

��������	
 ��
 � ����� �������

� aε(ψ) ��	��
�� �� 	���	���� L ∩ H1
0 (R × S)

��		�
 ���� ���� ���

aε(wu0) =

∫
R

(|w′|2 + C(S)(τ(s) + α′(s))|w|2 + c|w|2) ds,
���� ��� ������� �� ��������� ε � ���� 	�� 
����
�
��� 
��� ��� ����� �������

�

�� H1(R)� ����	 ��	������	 ���
��	 �� � ! 	�����	 ��� � ����� �������

� �
�
��

���
�� ���� Γ"
��#���$�

� ����� � ���
� �� 	���$�

� âε %

b(w) =

∫
R

(
|w′|2 + C(S)(τ(s) + α′(s))|w|2 − k(s)2

4
|w|2 + c|w|2

)
ds.

&���� ��		� ����
	� ��� �����
� 	�� ��	��
�� �����	 �� 	���	���� L ∩ H1
0 (R × S)�

&�#���� �� 
���� � ���� �� ���∫
R×S

[(|∇yϕ0|2 − λ0|ϕ0|2) + 2k(s)zα(s) · ∇yu0ϕ0]|w|2dyds = −
∫

R

k(s)2

4
|w|2ds,

 '



�� ��� ϕ0 � � ���	
� ��
���� �� ������ ��� ����������� ���������� � ������� ���

�������	�� Lε ∩ H1
0 (R × S)� �� ����� ������ ��� ���� ������ �� L ∩ H1

0 (R × S)

������ ε→ 0� ��� !"�������# ��� �������	�� Lε ∩H1
0 (R× S) � ����� −k(s)2/4�

�$



�������� 	

��
��
��
��� �
���
�� � �������

��
�����

����� �����	
� ��
��
�� � ���
���� � ��
�
������� −Δ−κ/|x| ���������
����

��
 κ > 0� � �������� � ��������� ���	
����� 
��� ������ �� �	� �� �� �����	
� �� �

���	���� � ������
���� � 
��
� � �
����� �� 
��� �� ��!��� "#�$% "���� �&!��� '#%

!����� ��
� �	��� r(s) = (s, 0, 0) � ��
�� ���
���� � 
�
��� ε→ 0. (�� ��
�
�������)

��
�� �	��� �	� � ����� S ����	� 	
� ������� �� *�!	
� �	
�� �� �������) �����

��&
��� ���& ��
 	
� �
���� �� ���������� ����	������ −κ/(|x| + εα)) �
 �	� α �

	
� ��������� ��������� � ���	+���� �� ���
�� �	���&����� � ��� ���
����� �

Fε(φ) =

∫
Ωε

(
|∇φ|2 − λ0

ε2
|φ|2 − κ

|φ|2
|x|+ εα

+ a|φ|2
)
dx, domFε = H1

0 (Ωε).

� ��������� a > 0 � ����
,��� �� ���
� ����������� � ��
� �� -���� ��' �� �����	
�

� �
� ���& ������
���� ��
�������� ��
 � ����!	�
���� �� ����.�

/�
�� 
������ �	� � �������
 	
� ������!+���� 	�����
� ��� ����
������ ���

���������� ���������� 0� ���
�� �	���&����� Fε �	���� ε → 0� 1
� ���
����

����2�
���� 
����� �	� ���� ������!+���� �3 ���� ������� �� �	������� {wu0 :

w ∈ H1(R)} �� H1
0 (R× S)� ����� ��&
��� �� �������!� ����� 0 ���	+���� �� ���
��
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��������	�
 ������
�
�����


qε(w) =

∫
R

(|w′|2 + Vε(s)|w|2 + a|w|2) ds, Vε(s) := −κ
∫

S

|u0|2√
s2 + ε2y2 + εα

dy,


� ��
 domqε = H1(R)� ��

��
��
 ��
� �
���
 �����
 	���	�
��
��	�
 ��
 �
�
��


�� ����� �� 	�������� �
��

 Vε(s)→ −κ/|s| ������ �s��

������
��
� �
���� �� �

������ �
 ���� 
���
 	���
����	�� �������
 ��
 �
�


���
��

� � ��
����� 
�
���� ������ �� �����
 ε → 0  � 
!�
�
"� �
 #���	$�
� ��

��
����� %��&' �
(���� �� ������ ���

��� �����	
 �� ����
�	


)
*� L � 
��

��+� �
 L2(R× S) �
���� ��� ����
 �
 ���+,

 �� �����

ψw(s, y) = w(s)u0(y), w ∈ L2(R).

-
���
��
 ��
 u0  � �������+"� �

�	���� �� ��������� λ0 �� -����	���� 
�

H1
0 (S)� .��
��
�
��
 � �
	����
�+"� ��������� / L2(R × S) = L ⊕ L⊥. 0

��� 



ψ ∈ L2(R× S)� ���
��
 

	�
�
�

ψ = ψw + U, w ∈ L2(R), U ∈ L⊥.

1��
��
 ����� U ∈ L⊥ ∩H1
0 (R× S)� 2��"��∫

S

U(s, y)u0(y)dy = 0 


∫
S

U ′(s, y)u0(y)dy = 0 �������
�,


� ��
 U ′(s, y) �
���� � �
������ �
 U 	�� �
��+"� � s� 3
���� �
 4�
������

 �


5�

�� ���� � ���
��
 �
� ��
∫
S

〈∇yU,∇yu0〉dy = 0, �������
�.

)
*� λ1 � 

����� ��������� �� -����	���� 
� H1
0 (S)� #

�
 ��
 U⊥u0 
�

L2(S)� �
��
 ∫
S

|∇yU |2dy ≥ λ1

∫
S

|U |2dy, �������
�.
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�����������	����∫
S

(|∇yU |2 − λ0|U |2
)
dy ≥ (λ1 − λ0)

∫
S

|U |2dy, �
�
�
��
.

�� ���� ���������� �� �	� ������ w ∈ H1(R) ��	�� ��� ψw ∈ H1
0 (R × S)


��������� ���� ψ ∈ H1
0 (R × S)� �������	�� ψ = ψw + U ��	 w ∈ H1(R) � U ∈

L⊥ ∩H1
0 (R× S)


����� ��������

Ωε := {x ∈ R
3 : x = (s, εy1, εy2), s ∈ R, (y1, y2) ∈ S} (ε > 0).

���� −Δε � ���������� �� ����� ��� �	 Ωε � I � �������� ����������
 !�	��

�������� � "�	���������

−Δε − κ

|x|+ εα
I − λ0

ε2
I + aI (κ > 0), #$
%&

�	 ��� a ' �	� ��������� �������� ����� ��� ��	� ��(��) ��������� a′ > 0 �� ���	�

���
κ

|x| ≤
1

4|x|2 + a′� ���� ���� x ∈ Ωε
 * ����(������� �� "���+ #���� ����� *
,

�� *�-�����& (������ ���〈(
−Δε − κ

|x|+ εα
I + a′I

)
ψ, ψ

〉
≥ 0,

���� ���� ψ ∈ H1
0 (Ωε)
 .�	�	�� a > a′� �� ������/���� �� 	��� ��� �0���� d > 0 �

��� � 〈(
−Δε − κ

|x|+ εα
I + aI

)
ψ, ψ

〉
≥ d

∫
Ωε

|ψ|2dx,

���� ���� ψ ∈ H1
0 (Ωε)


* ���	� �����/���� ��������� �� �������� #$
%&� �/ ��	 � 	������ �� ����/����

� ��(�����1��2�� ������/����� '

aε(ψ) :=

∫
R×S

(
|ψ′|2 + |∇yψ|2

ε2
− λ0

ε2
|ψ|2 − κ

|ψ|2√
s2 + ε2y2 + εα

+ a|ψ|2
)
dyds,

�	 ��� domaε = H1
0 (R×S). ������	�� ��� Aε � �������� ����3������� ���������

� aε
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���� ψ = ψw� ��� w ∈ H1(R)� �	��


aε(ψw) =

∫
R×S

(
|ψ′w|2 +

|∇yψw|2
ε2

− λ0

ε2
|ψw|2 − κ

|ψw|2√
s2 + ε2y2 + εα

+ a|ψw|2
)
dyds

=

∫
R×S

(
|w′|2|u0|2 − κ

|w|2|u0|2√
s2 + ε2y2 + εα

+ a|w|2|u0|2
)
dyds.

�
��
� � �	
�� ������� 
� �	��� ��� 
� ����
��	� 
	�����


qε(w) := aε(ψw) =

∫
R

(|w′|2 + Vε(s)|w|2 + a|w|2) ds, �����

	� ��	

Vε(s) = −
∫

S

κ
|u0|2√

s2 + ε2y2 + εα
dy.

� ��	��
�� �

����
� � ����� ���
������ qε  
	����
� ��� Qε 	 domQε = H2(R)�

������� ��	 �����!���
 ��	 0 < κ < (λ1 − λ0) 	 0 < α < 1� "����� 	#�
�	 ���

���
����	 C > 0 
	 ��
� ��	� ���� ε 
����	��	�	��	 �	��	���

∣∣∣∣A−1
ε −Q−1

ε ⊕ 0
∣∣∣∣ ≤ Cε2, ���$�

	� ��	 %  � ��	��
�� ��&� 	� L⊥�


�����
������ '��� (� 
�
����
� ������ ���� ψ ∈ H1
0 (R × S)� 	
��	)	��


ψ(s, y) = ψw(s, y) + U(s, y) ��� w ∈ H1(R) 	 U ∈ H1
0 (R× S) ∩ L⊥� �

���

aε(ψ) = qε(w) + bε(U) + 2mε(ψw, U),

	� ��	 qε(w)  
�
� ��� ������

bε(U) :=

∫
R×S

(
|U ′|2 + |∇yU |2

ε2
− λ0

ε2
|U |2 − κ

|U |2√
s2 + ε2y2 + εα

+ a|U |2
)
dyds

	

mε(ψw, U) := −
∫

R×S

2κ

(
wu0U√

s2 + ε2y2 + εα

)
dyds.

*���
 ��
���� ��	 qε� bε 	 mε 
���
��+	� �
 ���
��,	
 ���-�� ������ ���.� 	

���/� �)	(� �	��� ��� 
� ����
��	�� ��� ���
�������

qε(w) ≥ d

∫
R

|w|2ds

-/



���� ������ �	
���
�
 d > 0� �
�
��	� c(ε) := d� ������ ����� � ������
���� �	�

	���	 ���	� �
��
 ��
 U ∈ H1
0 (R× S) ∩ L⊥�

bε(U) ≥
∫

R×S

(
|∇yU |2
ε2

− λ0

ε2
|U |2 − κ

|U |2√
s2 + ε2y2 + εα

)
dyds

≥
∫

R×S

(
(λ1 − λ0)

ε2
|U |2 − κ

|U |2√
s2 + ε2y2 + εα

)
dyds

≥
∫

R×S

(
(λ1 − λ0)

ε2
|U |2 − κ

|U |2
εα

)
dyds

≥
∫

R×S

(λ1 − λ0 − κ)

ε2
|U |2dyds.

�	� �����
�
 κ < λ1 − λ0� 
 

��	 p(ε) :=
(λ1 − λ0 − κ)

ε2
→∞� ���
�	 ε→ 0�

� �
�!
�	� ��
 c(ε) = O(p(ε))� ������ ���"� 
 ���#� ��	 ������
�����

$�
���

�
� 
%���
 ��� �	
���
�
 C > 0 �
 �	�	 ��


|mε(ψw, U)| ≤ 2κ

∣∣∣∣∣
∫

R×S

ψwU√
s2 + ε2y2 + εα

dyds

∣∣∣∣∣
≤ 2κ

εα

∫
R×S

|ψw||U |dyds

≤ 2κ

εα

(∫
R×S

|ψw|2dyds
)1/2(∫

R×S

|U |2dyds
)1/2

=
2κ

εα

(∫
R

|w|2dyds
)1/2(∫

R×S

|U |2dyds
)1/2

≤ C

εα
(qε(w))

1/2ε(bε(U))
1/2

≤ q(ε)(qε(w))
1/2(aε(ψ))

1/2,


� ��
 q(ε) := Cε1−α → 0 ���
�	 ε→ 0 ��
� �
�	� ��
 �	� �����
�
 0 < α < 1��

� �	
��&�	 ���'� ��� �� � ������
���� ������
�	 	 ��	�	��&�	 ���(�� �"�)� ���

�
�	
�����	�

�*



��� �����	
���
� ��
��	��

���� ���� ε > 0� ���	
��


(Hεw)(s) := −w′′(s) +Wε(s)w(s), domHε = H2(R), �����

�� ��� Wε � �� ����	�
�� �� ����� ��� � �������� ��
�� �
���� ��� ���	
�� �


��� ���������	��� ����	�� ��� � �
�
�� lim
ε→0

Wε(s) ��

�� ������� ���� W0(s) :=

lim
ε→0

Wε(s)� ����	����
 ������ ��� W0(s) 
��� �� ����	�
�� ��� ��� 

	 ����
�

���� 	� ��
 �� � ��� � ��������

(H0w)(s) := −w′′(s) +W0(s)w(s), domH0 = {H2(R\{0}) : w(0±) = 0},


��� ���������	���

!� "#$% � 
� �
	�� ������� � ����	
�����& �
�����
 ��� ��
������ ��
�	���

������� ��	 ���� Hε ���� �� ����� � Wε(s) 
��

��'�	��(

�
� ��

�� ��� ��	
��	�� c > 0 �� ���� ���

|Wε(s)| ≤ c

(
1

|s|γ +
1

|s|β
)
, 0 < ε ≤ ε0,

�� ��� β > 0 � 0 < γ < 2&

�

� Wε(s) ∈ L1
loc(R)� 0 < ε ≤ ε0&

�


� Wε(s)→ W0(s) ������ ���	�� ε→ 0&

�
)�

∫ −b

b

Wε(s)ds→ −∞ ���	�� ε→ 0 ���� �� �� b > 0&

�)� sup
ε∈(0,ε0)

∫ −b

b
|Wε(s)|ds∣∣∣∫ −b

b
Wε(s)ds

∣∣∣ <∞�

!	�*�� Hε ��	)�� � ���� H0 	� 
�	�
�� �	
����� ��
 ��
��)�	��
 ���	�� ε→ 0�

+ ����	
���,*� �� -������ ��
�� � ��
�� ��	 � � ���	
�� � ��� �
�� ���
)�

	*� 
��. �����
�� ���
� + ���� ����
 ��	�
,/�
 �� ����	
���� � 
� �
	�� ��
�������

�0



� ���� � � ����� 	
����	�� ���

������� ���
� ��	�
���� ���� HD � �	�
���
 �����

������� �� 	����� ��� �� ����� � ��
����� ��
� �����
� ��! ������"�� �� #�
��$��
 ��

�
���! �� �	�
���
 ���%�� &�!�
�!�� �� �	�
���
 Qε ��������� � '�
!� ����
�
���

�(�%� ������� �� 	����� )*�

������� ��	 (Qε − aI) ���+�
�� 	�
� HD �� ���
��� ���'�
!� ��� 
����+��
��

������ ε→ 0�


�����
������ ,�!�� !��

�
 ��� Vε(s) = −κ
∫

S

|u0|2√
s2 + ε2y2 + εα

dy ��
��'�- ��

������"�� ��� �+� �� .��
�!� (�%� /���!� � 
��
�!� ���
� ��!���

����

0�
� !��

�
 ��� ���
� ����
+�
!�� ���

|Vε(s)| ≤ κ

∫
S

|u0|2
|s|+ εα

dy =
κ

|s|+ εα
≤ κ

|s| ,

� ��
�� 
�!�
 c = κ/2 � γ = β = 1.

1��
�!��
� Vε ∈ L1
loc(R) � ���� � ��
��'��
�� 0�
� 	
�+�
 ������ �	����!�� �

.��
�!� �� 1��+�
�2���� #�!����� ��
����

lim
ε→0

∫
S

|u0|2√
s2 + ε2y2 + εα

dy =

∫
S

lim
ε→0

|u0|2√
s2 + ε2y2 + εα

dy

=

∫
S

|u0|2
|s| dy =

1

|s| ,

�� ����� lim
ε→0

Vε(s)→ − κ

|s| = V (s).

/��
� +�!�� 	
�+�
 ��+�� #���� ��� S � �!� 
����� ��!�
���� ����
� �!�

����
��
� K > 0 �� !��� ��� y2 ≤ K� /���!�∫ 1

−1

Vε(s)ds ≤ −κ
∫ 1

−1

∫
S

|u0|2√
s2 + ε2K + εα

dyds

= −κ
∫ 1

−1

1√
s2 + ε2K + εα

ds.

1��������
�!��
��

lim
ε→0

∫ 1

−1

Vε(s)ds = −∞.

/ �������� �+� � ���
�!��
� ��
��'��
�� 3 
����
��� ���� ����� �	������� � .��
�!�

(�%�

(�



������� ������ 	
��������
 �� ���	
 �� ���
��	� ��� � ���
 ���������� ����

�� �
������ �� �����	����� �� ����� �� ���
������ 	 ������ � 	���!	�����	 ��

"��#$ ��������	�	 %�� 	 �� &�
�������

�#



�������� 	


 ������
��� �� ����� ����������

����� �����	
� ��
�� ���
���� � ��
�����
���� �� 	
� ������	
� 
���� ��


������ �
 �	�� ��
� �� �����	
� �� �� �������� � ������ S �	� �� �����
 ��

�	�� ��� ��� ������
���� �
 ���� ����� s ∈ R� ��
 �����
����  ����� 
	
���
������

� ����� ���������
 ��� 	
� �	���� ���������� h(s)�

!
 "#$ ��� ����������� � ���� �� 	
� ������	
� �� 
������ 
����
���� �


	
� ���%� ����
�������
� &��� �������
����� � '��
������ �� (����)
�� −Δε ��

�	����*	���

Ωε = {(s, y) ∈ R
2; s ∈ I, 0 < y < εh(s)}, ε > 0,

�
 �	� I = [−a, b]� 0 < a, b,< ∞� � h(s)  	
� �	���� �������� �������+����

������ ������,��� ��� �%�
�
�� h ����	� 	
 -���� ����� �� 
�%�
� �
���
 �
 I� .

��������
 ���	
���� ����� ������ ��+ �	�� ���� ε → 0� � ��
�����
���� ������/����

��� �	����
���� lj(ε) �� −Δε �
 Ωε �������
 ��� �	����
���� �� ����� ��������

�� 0�)�1������ 	����
�������
 ��2���� �
 ���� R� 3��� ��� ������ ����� � �� 	
�

�������4���� 	�����
� ��� ����
�������

5
�	
 ��
�� ������ �
 "67$� �� 
��
� �	����� ��������
 ���	
����� ��
�
����

������������ I = R� �� �������� ����� ���� � �������� �� '��
������ �� (����)
��

�
 Ωε ���  ����������
���� �������� � �
�	
�� ����
������ ���� � �������� ��������


��
� 
 ����
 ������������ .	��� ����
�
� ���
����� �
 "67$ ��� � ���� �
 �	� I
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� �� �����	
�� 
���� �
� ��� 
 �������� �� ��������� �
 �
��� 	�����
� �
 ��������


∂Ωε ����������
 ���
 �������� �� ����
��� ������
��� �����
��� 
�� �� ��� ���
�

��������

� ������������ ����� �
������ � ��
  ����
��!
��� ��� ������
��� �� ��� � �"#�

�
�
 ����� �� ���
�� R
3� $
�� ������
�����% 
 ��
 
 �
������
 �� ��	� �� �� ����

Ω ⊂ R
3 � ��
 ����� ��
��	���
� � ���������
�
 ��� h(s)� &���
 ��	��
�� � '�� 


���	
 �� R
3 '�� �( ��� �� ) Ω ���� ��� ���	
���
 � ������ ���*���
�� $����
�����

'��% ��  ��
� ��� ������
� 
��'�
�
� �� h% 
 ���	
���
 ��� ��+�����
 � ����
���

�����	� �� ������ ε→ 0�

��� ������	
� �� ���
�
�

����
 ����� 	
��� �����
� ��
 ���������� ���
��
�
 �
 �� ��� �� '�� 


�
������
 �� ��	� ��	��������

,�-
 I = [−a, b] �� '�� 0 < a, b ≤ ∞� ,�-
 h(s) > 0 ��
 ������ �������


��
���
 �� I� ��������� '��.

/�0 s = 0 � � 1���� ����� �� �(2���  ���
� �� h �� I3

/��0 h ∈ C1 �� I\{0} � ���
 	�!���
��
 �� s = 0 
����� 
 �2�
����

h(s) =

⎧⎨
⎩ M − c+s

m +O(sm+1) �� s > 0;

M − c−|s|m +O(|s|m+1) �� s < 0
/4�"0

�� '�� M % m% c± ��� �1����� ��
�� � M, c± > 0% m ≥ 1�

5�������
��� � �
�� �
������
� �� '�� h(s) � C∞ �� ���� I% �����% ������
*

��
����� m � �
� � c− = c+� &���� �
�� ��������
��� � '�
��� m = 1 '�� �
����

� ��������� ���� 6����
 '����
�
7�

8
�
 �
�
 ε > 0% ��
�����

Λα
ε := {x ∈ R

3 : x = r(s) + εh(s)y1Nα(s) + εy2h(s)Bα(s), s ∈ I, y = (y1, y2) ∈ S},

9:



�� ��� Nα(s) � Bα(s) ��� �	��� 
��

Nα(s) := cosα(s)N(s) + senα(s)B(s)

Bα(s) := − sinα(s)N(s) + cosα(s)B(s)

� α : I → R � ��	 
����� C∞� ������� 
���	� �� Λα
ε ���� ����� 	 ������ Ωα

ε �

������	 �� �	
����� �� �	� 	���	 ��� 	 ����� ��	������	� ���
���	�	�� �� ���	�

�����
���	�	 
�� h(s)�  ����	������� 	 �������� ��
���	 �	 
�������	 �� Λα
ε � 	 ��

!����"����

#	��� 	�	���	� � ���
���	����� �� ��	 
	������	 ����� �� ������� �	 ���	

������� �	�� 
�����	����� �����	� 	 
	����	 �� 
���	� ��	��$���	�

bαε (ψ) =

∫
Λα

ε

|∇ψ|2dx, dombαε = H1
0 (Λ

α
ε ), %&�'(

	�����	�	� 	�� �
��	����� )	
�	��	��� −Δα
ε �� Λα

ε � ���� 	����� ∇ �����	 � ��	*

������ �	� �������	�	� ���	�� �� R
3�

��� ����� 	
����
���

!� 
���	 �����	� 	 +���� ��� %
$��',( �	��� 
	-�� ��	 ���	��	 �� �	��$����

�� ���� ��� 	 ������ �� ������	��� �� %&�'( ����
���	 �� ε > 0� ������������ 	

	
���	���

fα
ε : I × S → Λα

ε

(s, y1, y2) → r(s) + εh(s)y1Nα(s) + εh(s)y2Bα(s).

#	��� ��
�� ��� ||k||∞, ||τ ||∞, ||α′||∞ < ∞� .��	� ������/�� ��� �	�	���� ��� fα
ε

���	 �� ��
���������� 0����� 
������ 
	-�� ��	 ���	��	 �� �	��$���� � 
	��	� 	


���	 ��	��$���	 ���	� �	� �������	�	� (x, y, z)�

bαε (ψ) =

∫
Λα

ε

|∇ψ|2dx, dombαε = H1
0 (Λ

α
ε ),


	�	 	� �������	�	� (s, y1, y2) �� I × S� �	��	��� 	 ��	1	�"	� �� �� ������� �2�


	�	 ���� ε > 0� ��� ����� �	��� � 
���� 	 
	�	� � ��	 ������	 3���	���	�	
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G = Gα
ε ���������	
 	 ��	
 
 �������	 ��
� ������������ f

α
ε � �� ���	�

G = (Gij), Gij = 〈ei, ej〉 = Gji, 1 ≤ i, j ≤ 3,

�� ���

e1 =
∂fα

ε

∂s
, e2 =

∂fα
ε

∂y1

, e3 =
∂fα

ε

∂y2

.

�
���� ��
��
�� �����	� ��� � ���������	
 �� ������ 
 �	�� ���

J =

⎛
⎜⎜⎜⎝

e1

e2

e3

⎞
⎟⎟⎟⎠

=

⎛
⎜⎜⎜⎝

βε −εh(τ + α′)〈z⊥α , y〉+ εh′〈zα, y〉 εh(τ + α′)〈zα, y〉+ εh′〈z⊥α , y〉
0 εh cosα εhsenα

0 −εhsenα εh cosα

⎞
⎟⎟⎟⎠

�� ���

βε(s, y) = 1− εh(s)k(s)〈zα, y〉, zα := (cosα,−senα), z⊥α := (senα, cosα).

� �	���� ������	 �� J 


J−1 =

⎛
⎜⎜⎜⎜⎝

1

βε

1

βε

[
(τ + α′)y2 − h′

h
y1

]
1

βε

[
−(τ + α′)y1 − h′

h
y2

]
0

cosα

εh

−senα
εh

0
senα

εh

cosα

εh

⎞
⎟⎟⎟⎟⎠ .

������� ��� JJ t = G � det J = | detG|1/2 = ε2h2(s)βε(s, y)�  ��� k � h ���

���!"�� 
����	�	�� �	�	 ε �������������� �������� βε ��� �� 	��
	 �� I×S� ������
βε > 0 � fα

ε 
 �� ������������ 
��	
� #$������ ��� fα
ε ���	 �������	 %�� ���	� ��� �

��&� ��� �� 	�������������	' �&����� �� ������������ �
�&	
�

(����������� 	 ���	!��

||ψ||2G =

∫
I×S

|ψ(s, y)|2ε2h2(s)βε(s, y)dsdy,

�&����� 	 ��������	 �� ����	� ��	������	�

b̃αε (ψ) :=
∣∣∣∣J−1∇ψ∣∣∣∣

G
, dom b̃αε = H1

0 (I × S,G),

))



�� ��� ∇ = (∂s,∇y)� ���	 
����	���
��� � ����
�� �� ������
���	 ����� ���

������ 
��� ���
	�������� �
������

Uα
ε : L2(Λα

ε ) → L2(I × S,G)

φ → φ ◦ fα
ε

�� �
��
��� ��
��
������	 ��
���
�� Uα
ε ψ 
�� ψ�

�� ����� 	������ � ����� ��� �
������ 
���� ���	 
�
	�� �� �����
�� � �����

λ0/ε
2h(s)2 ��	 �����	 ����������	� �� �
��
��� !���	 �����
�� �	 �����	 �� �����

λ0/ε
2M2� �� 	�"�� ��	�� ��� 0 < h(s) < M � 
��� ���� s ∈ I� �����
���	 � #��
��

�
�����$ 
�		 !���

%���	 �	����� � 	���&
��� �� �����	 ����������	

l̃αε (ψ) :=
1

ε2

(∣∣∣∣J−1∇ψ∣∣∣∣2
G
− λ0

ε2M2
||ψ||2G + c||ψ||2G

)
,

�� ��� c ' ��� ��
	��
�� 
�	���!� � 	�� �	���(��� ���	 ����
���

)���
	 �������	 ��	���� ���

l̃αε (ψ) =

∫
I×S

(
1

β2
ε (s, y)

∣∣∣∣ψ′ +∇yψ ·Ry(τ + α′)(s)−∇yψ · yh
′(s)
h(s)

∣∣∣∣
2

+
|∇yψ|2
ε2h(s)2

− |ψ|2
ε2M2

+ c|ψ|2
)
h(s)2βε(s, y)dyds.

�� ��� dom l̃αε = H1
0 (I × S) ' !�	�� ���� �� 	���	
��� �� L2(I × S, h(s)2βε(s, y))�

�� �
��
��� 	��� ��
!�
��
�� ������(����	 �� L2(I × S, βε(s, y))� *�
	�������	

�
��� � �	�������

V : L2(I × S, βε) → L2(I × S, h(s)2βε)

v �→ vh−1

+�,�
�� � ����
�� �� !����!��	 ������ ������	

l̂αε (v) :=

∫
I×S

(
1

βε(s, y)

∣∣∣∣v′ − v
h′(s)
h(s)

+∇yv ·Ry(τ + α′)(s)−∇yv · yh
′(s)
h(s)

∣∣∣∣
2

+
βε(s, y)

ε2h(s)2
|∇yv|2 − βε(s, y)

ε2M2
|v|2 + cβε(s, y)|v|2

)
dyds.

-.



������ dom l̂αε = H1
0 (I × S) � �	
�� ��
� �
 
��
����� �� L2(I × S, βε(s, y))�

��
� ��
������ �� �������� �� � 
�	�� 	
�������� � ���� �� ��� βε(s, y)→ 1

��	���
�
���� ������ ε→ 0� �

	
� ����
�
 ��������� �
 L2(I × S) ��
�� ����

���� ε 
���	����
���� �������� �
 �
����
 L2(I × S, βε(s, y)) ��	��	��
 ������	���


���� ��
 L2(I × S)�

����	
�


lαε (v) :=

∫
I×S

(∣∣∣∣v′ − v
h′(s)
h(s)

+∇yv ·Ry(τ + α′)(s)−∇yv · yh
′(s)
h(s)

∣∣∣∣
2

+
βε(s, y)

ε2h(s)2
|∇yv|2 − βε(s, y)

ε2M2
|v|2 + c|v|2

)
dyds,

�
 ��� dom lε = H1
0 (I × S)�

 �
����
�
 ��� � �	������� ����� lαε � l̂
α
ε � �����
 � ����� 1/βε(s, y) 
���	��	�

����� � ��	
�	�� ���
� ������ �� 	������� � βε(s, y) 
���	��	����� � !��	
� ���
�

������ �� 	�������� ��
� βε(s, y) → 1 ��	���
�
���� ������ ε → 0� ����
�


�
����� � 
���"��	� (lαε )ε �
 ��# �� (l̂αε )ε�

�� ����� �
 �	���� �$� �
���
�
 � �����$� ��
 ���	�� α� ��� �%�
���� lαε


��& 
	
���

���� �������� ��� lε�

'�(�
 L̂ε � Lε �
 ���������
 �������(����
 �

��	���
 �
 ���
�
 �����&�	��


l̂ε � lε ��
����	��
����� ��
� ��
������ ��	
�)

������� ��	 *��� ε 
���	����
���� �������� �%	
�� �
� ���
����� C > 0 ��


��� ���

||L̂−1
ε − L−1

ε || ≤ Cε.


�����
������ '	
	��� � �� +����
� ,�-� �

��� �����	
 �� ����
�	


'�(� L � 
���
���� ������ ����
 ����.�
 �� ���
� wu0 ��
 w ∈ L2(I)� /�
�

���
�
 ��� u0(y) � � ��������$� �����
�������� �� ��	
�	�� ��������� λ0 �� /�����

�	��� �
 H1
0 (S)� 0�#���� � ����
��
	�$� ��������� L

2(R × S) = L ⊕ L⊥, ����

12



ψ ∈ L2(R× S)� ������� ���	�
�	

ψ(s, y) = w(s)u0(y) + U(s, y),

��� w ∈ L2(I) � U ∈ L⊥� �
��	
���� ��� U ∈ L⊥ �������∫
S

u0(y)U(s, y)dy = 0, ����������

����� ���
�� ��� wu0 ∈ H1
0 (I×S) �� w ∈ H1

0 (I)� ��	������ ��	� ψ ∈ H1
0 (R×S)�

���	�
���� ψ = wu0 + U ��� w ∈ H1
0 (I) � U ∈ H1

0 (R× S) ∩ L⊥�
������������ 
���� �������	 � ��	�� ����	����� lε 	���	��� �� ��
������ H

1
0 (I × S) ∩ L�

��	� w ∈ H1
0 (I) ������ �������� ����	�� ���

lε(wu0) =

∫
I

[
|w′|2 + v(s)|w|2 + ζε(s, y)

(
λ0

ε2h2(s)
− λ0

ε2M2

)
|w|2 + c|w|2

]
ds,

�� ���

v(s) = C1(S)(τ(s) + α′(s))2 + (C2(S)− 1)

(
h′(s)
h(s)

)2

− 2C3(S)(τ(s) + α′(s))
h′(s)
h(s)

�

ζε(s, y) = 1− εk(s)h(s)〈zα(s), B(S)〉.

�� ���������� C1(S)� C2(S) � C3(S) ��� ���	���� �� �� ���!� �� v ��������

������� �� 	���!� S � �!� ����� ��	

C1(S) :=

∫
S

|〈∇yu0, Ry〉|2dy; C2(S) :=

∫
S

|〈∇yu0, y〉|2dy;

C3(S) =

∫
S

〈∇yu0, Ry〉〈∇yu0, y〉dy.

� 
���	 B(S) = (B1(S), B2(S)) �� �� ���!� �� ζε ���
�� ������� �������

�� 	���!� S � � ���� ��	

B1(S) =

∫
S

y1|u0|2dy � B2(S) =

∫
S

y2|u0|2dy.

"�� ���� 	���	��!� �
����� ��	��� ����	������ �� ����� �� H1
0 (I)

qε(w) :=

∫
I

(|w′|2 +Wε(s)|w|2
)
ds,

#$



�� ���

Wε(s) := v(s) + c+ ζε(s, y)

(
λ0

ε2h2(s)
− λ0

ε2M2

)
. ����	


 ��
���
�� c > 0 � ������ �� ���� ��� c > ||v||∞ + (1/M2)||k(s)2/4||∞�

���� k(s) � h(s) ��� ��
���� ���������� ������� ε1 > 0 � δ > 0 �� ���� ���

0 < ε1 < ε0�

1− εk(s)h(s)〈zα(s), B(S)〉 > δ � 1− εk(s)h(s)〈zα(s), y〉 > δ

���� ���� ε ≤ ε1� �����
��� ��� � �� ����� ��� ����� !���� ������ ��
�������

ε < ε1�

" �������� ����#��$�
�� ��������� � qε �� L2(I) �

(Qεw)(s) := −w′′(s) +Wε(s)w(s), domQε = H2
0 (I).

%� �&��� �� ���
�� ��
������ ��� −Δc
ε � �������� −Δα

ε + c � ���������� �

� �'��� α�

" ��� ������� �&��� � ������� ��� � �������� �����!�
��

(
−Δc

ε −
λ0

ε2M2
I

)−1

���� ��� ���������� ��� Q−1
ε ⊕ 0� �� ��� 0 � � �������� 
��� 
� ��'������ L⊥�

��� ���� ��������� ��� ����� ����� �� ������� �� ����
����

���� ��� (���
)���� ��� I ��$� �� �
���!��� ��������� �
��� ������ ��� ��
�#

��
�� R1 > 0 �� ���� ���

qε(w) ≥ R−1
1 ε−2β

∫
I

|w|2ds, ∀w ∈ H1
0 (I), ∀0 < ε < ε1.

���	
��
���	� *����'��
�� � ���
���� �� Wε(s) �!�$� ����		 �����

ε2Wε(s)

|s|m ≥ λ0

|s|m δ
(

1

h(s)2
− 1

M2

)
.


 ��
��� �� ���� ������� �� ����&������� � ���������
�� ������!� �� I � ��
#

� 
�� �� [−a, 0] � �� [0, b]� 
����� ����� ��� I � ��������� ������ ��� ��
���
��

σ > 0 �� ���� ���

Wε(s) ≥ σε−2|s|m, ∀ε > 0, s ∈ I. ���+	

�,



� �������� −d2/ds2 + σ|s|m �� L2(R) 	 ��
���
�� �

���∫
R

(|w′(s)|2 + σ|s|m|w|2) ds ≥ R−1
1

∫
R

|w(s)|2ds, ∀w ∈ H1(R),

���� ����� ������ ��
���
� R1� ������� � ������� �� 
����
�� s �→ ε−βs� ������
∫
R

(|w′(s)|2 + σε−2|s|m|w|2) ds ≥ R−1
1 ε−2β

∫
R

|w(s)|2ds, ∀w ∈ H1(R).

�� ����������� �
�� ��
��������� 	 
���
����� ���� ���� ������ w ∈ H1
0 (I) ��
�������

��� ���� �� R\I � !���� ����� "��

qε(w) ≥ R−1
1 ε−2β

∫
I

|w|2ds, ∀ε ≤ ε1,∀w ∈ H1
0 (I).

� ���� ����#� 
��� ����� ���� � ��
� �� "�� � �����
��� I 	 �������� �� I = R�

���� ��� $��� U ∈ H1
0 (I × S) ∩ L⊥� �#�
�� ��� ���
����� P1 �� ���� "��� ����

ε 
�%����������� ��"����� 
���

lε(U) ≥ P1

ε2M2

∫
I×S

|U |2dyds.

���	
��
���	� !�&� λ1 � 
������ ����
���� �� '��������� �� H1
0 (S) � U ∈

H1
0 (R× S) ∩ L⊥�

(�
�� "�� h(s) ≤M � ���� ���� s ∈ I� ����
∫
S

βε(s, y)

( |∇yU |2
ε2h(s)2

− λ1
|U |2
ε2M2

)
dy ≥

∫
S

βε(s, y)

( |∇yU |2
ε2M2

− λ1
|U |2
ε2M2

)
dy.

)�� ����������� 
������ � �*�+ �
�&� ����,- ������� "��∫
S

βε(s, y)

( |∇yU |2
ε2M2

− λ1
|U |2
ε2M2

)
dy ≥ γε(s)

M2

∫
S

βε(s, y)|U |2dy.

���� γε(s) → −k(s)2/4 �������	�	�
	 ���� ε → 0
 	���
	 ��� ����
��
	

F ∈ R �	 ���� ��	
 ���� ε �����	�
	�	�
	 �	��	��


γε(s)

M2
≥ F, ∀s ∈ I.

��



������
γε(s)

M2

∫
S

βε(s, y)|U |2dy ≥ F

∫
S

βε(s, y)|U |2dy.

���	
�	��∫
I×S

βε(s, y)

( |∇yU |2
ε2h(s)2

− λ1
|U |2
ε2M2

)
dyds ≥ F

∫
I×S

βε(s, y)|U |2dyds.

���
�
� � ���	�
��
� � 	����
λ0

ε2M2

∫
I×S

|U |2dy �� �

� ������
� 

 
����
��
�


� 
���
� ��	����∫

I×S

βε(s, y)

( |∇yU |2
ε2h(s)2

− λ0
|U |2
ε2M2

)
dyds

≥ F

∫
I×S

βε(s, y)|U |2dy + (λ1 − λ0)

ε2M2

∫
I×S

βε(s, y)|U |2dyds.

���	
�	�� �
�
 ε �������	����	� �������� ����	� ��
 ����	
�	� P ′1 
� ����


���

lε(U) ≥
∫

I×S

βε(s, y)

( |∇yU |2
ε2h(s)2

− λ0
|U |2
ε2M2

)
dyds+ c

∫
I×S

|U |2dyds

≥ Fδ

∫
I×S

|U |2dyds+ (λ1 − λ0)

ε2M2

∫
I×S

βε(s, y)|U |2dyds+ c

∫
I×S

|U |2dyds

≥ P ′1
ε2M2

∫
I×S

βε(s, y)|U |2dyds

≥ P ′1
ε2M2

δ

∫
I×S

|U |2dyds.

����
� �
�	
 	��
� P1 = P ′1δ � � ���
 ��
 
�����	�

��

����
 �������
� ���	�������� ���	
 ����� �� ��
� ��� 
�����	�


�

������� ��	  ���	� ��
 ����	
�	� R0 > 0 
� ��
� ���� �
�
 ε �������	����	�

�������� ∣∣∣∣∣
∣∣∣∣∣
(
−Δc

ε −
λ0

ε2M2
I

)−1

− (Q−1
ε ⊕ 0)

∣∣∣∣∣
∣∣∣∣∣ ≤ R0ε

3β,

�� ��� 0 
���	
 � ����

�� ���� �� ������
�� L⊥�

!"



��������	
��� ���� ψ ∈ H1
0 (R× S) ��������	�

ψ(s, y) = w(s)u0(y) + U(s, y),

�	� w ∈ H1
0 (I) � U ∈ H1

0 (R × S) ∩ L⊥
 �����
 � �	��� ���������� lε(ψ) �	�� ���

��������� �	�	

lε(ψ) = qε(w) + bε(U) + 2mε(wu0, U),

�� ��� qε(w) = lε(wu0)
 bε(U) = lε(U) �

mε(wu0, U) =

∫
I×S

dyds

(
w′u0 − wu0

h′

h
+ w∇yu0 ·Ry(τ + α′)− w∇yu0 · yh

′

h

)

×
(
U ′ − U

h′

h
+∇yU ·Ry(τ + α′)−∇yU · yh

′

h

)

−
∫

I×S

k(s)h(s)〈zα, y〉w
(∇yu0∇yU

εh2
− λ0

u0U

εM2

)
dyds.

���	� �	����� ��� qε(w)
 bε(U) � mε(wu0, U) ���������� �� �	������� ��
��


��
��
 ��
�� � ��
�� ��� � !��"	 �
# �	 ��$������ � ����� 	 ��	���� %���� ���	��&

����	


�� �	������� ��
��
 ��
�� � ��
�� �"	 ����������� ��'�����	 	� (���� �
# � �
)


��������	� ������ ����%��� � �	����"	 ��
��
 	� �� �
 ��� �*���� ��� ����"	 q(ε)

�� �	�	 ��� ���� ���� ψ ∈ H1
0 (I × S)

|mε(wu0, U)|2 ≤ q(ε)2qε(wu0)bε(U), q(ε)→ 0 (ε→ 0). ��
��

+�������	�

mε(wu0, U) = m1
ε(wu0, U)−m2

ε(wu0, U) +m3
ε(wu0, U)−m4

ε(wu0, U)−m5
ε(wu0, U)

�� ���

m1
ε(wu0, U) :=

∫
R×S

w′u0

(
U ′ − U

h′

h
+∇yU ·Ry(τ + α′)−∇yU · yh

′

h

)
dsdy

m2
ε(wu0, U) :=

∫
R×S

wu0
h′

h

(
U ′ − U

h′

h
+∇yU ·Ry(τ + α′)−∇yU · yh

′

h

)
dsdy

m3
ε(wu0, U) :=

∫
R×S

w∇yu0 ·Ry(τ + α′)
(
U ′ − U

h′

h
+∇yU ·Ry(τ + α′)−∇yU · yh

′

h

)
dyds

�)



m4
ε(wu0, U) :=

∫
R×S

w∇yu0 · yh
′

h

(
U ′ − U

h′

h
+∇yU ·Ry(τ + α′)−∇yU · yh

′

h

)
dsdy

m5
ε(wu0, U) :=

∫
I×S

k(s)h(s)〈zα, y〉
ε

w

(∇yu0∇yU

h2
− λ0

u0U

M2

)
dyds.

����� ����� �	�
���� ��
� ����� ������ �����

H1 :=

∣∣∣∣
∣∣∣∣h′h
∣∣∣∣
∣∣∣∣
∞
, H2 := ||τ + α′||∞

� 
�������� ���

C1(S) =

∫
S

|〈∇yu0, Ry〉|2dy � C2(S) =

∫
S

|〈∇yu0, y〉|2dy.

���	
� �� �
�	��
�
�� 
� ����	� �
��	� ��
��
�� ������� ���∫
S

u0〈∇yU,Ry〉dy = −
∫

S

〈∇yu0, Ry〉Udy,
∫

S

u0〈∇yU, y〉dy = −
∫

S

〈∇yu0, y〉Udy.

������

• |m1
ε(wu0, U)| ≤ H2C1(S)

(∫
I

|w′|2ds
)1/2(∫

I×S

|U |2
)1/2

+ H1C2(S)

(∫
I

|w′|2ds
)1/2(∫

I×S

|U |2
)1/2

≤ Kεqε(w)
1/2bε(U)

1/2;

• |m2
ε(wu0, U)| ≤

(∫
I×S

|w|2|u0|2
(
h′

h

)2

dyds

)1/2

bε(U)
1/2

≤ H1

(∫
I

|w|2ds
)1/2

bε(U)
1/2

≤ H1

R
1/2
1

εβqε(w)
1/2bε(U)

1/2;

• |m3
ε(wu0, U)| ≤

(∫
I×S

|w|2|〈∇yu0, Ry〉|2(τ + α′)2dyds
)1/2

bε(U)
1/2

��



=

(∫
I×S

|w|2C1(S)(τ + α′)2ds
)1/2

bε(U)
1/2

≤ C1(S)
1/2H2

(∫
I

|w|2ds
)1/2

bε(U)
1/2

≤ C1(S)
1/2 H2

R
1/2
1

εβqε(w)
1/2bε(U)

1/2;

• |m4
ε(wu0, U)| ≤

(∫
I×S

|w|2|〈∇yu0, y〉|2
(
h′

h

)2

dyds

)1/2

bε(U)
1/2

=

(∫
I×S

|w|2C2(S)

(
h′

h

)2

ds

)1/2

bε(U)
1/2

≤ C2(S)
1/2H1

(∫
I

|w|2ds
)1/2

bε(U)
1/2

≤ C2(S)
1/2 H1

R
1/2
1

εβqε(w)
1/2bε(U)

1/2.

���� ������ 	
�	���� ���
��� ���∫
S

y1〈∇yu0,∇yU〉 = −
∫

S

g(y)Udyds,

∫
S

y2〈∇yu0∇yU〉 = −
∫

S

h(y)Udyds,

�� ���

g(y) :=

(
∂u0

∂y1

+ y1
∂2u0

∂y2
1

+ y1
∂2u0

∂y2
2

)
,

h(y) :=

(
∂u0

∂y2

+ y2
∂2u0

∂y2
2

+ y2
∂2u0

∂y2
1

)
.

����� ������ ����
�� 	���
��
�� K1 � K2 �� ����� ���

|m5
ε(wu0, U)| ≤

∣∣∣∣
∫

I×S

k(s) cosα(s)y1w
∇yu0∇yU

εh
dyds

∣∣∣∣
+

∣∣∣∣
∫

I×S

k(s)h(s) cosα(s)y1λ0w
u0U

εM2
dyds

∣∣∣∣
+

∣∣∣∣
∫

I×S

k(s) sinα(s)y1w
∇yu0∇yU

εh
dyds

∣∣∣∣
+

∣∣∣∣
∫

I×S

k(s)h(s) sinα(s)y1λ0w
u0U

εM2
dyds

∣∣∣∣
��



≤ K1

ε

(∫
R

|w|2ds
)1/2(∫

R×S

|U |2dyds
)1/2

≤ K2ε
βqε(w)

1/2bε(U)
1/2.

��� �� ��������	�� �
��� 	���� ��� �
���� ��� 
�������� K �� ���� ���

|mε(wu0, U)|2 ≤ Kε2βqε(w)bε(U)

� ����� ����� �
� ������������ ����
���� � ���������� ��� �� ������
�� �
����

��� 
�������� R0 �� ���� ���� ���� ε ���
���������� �������� 	���∣∣∣∣∣
∣∣∣∣∣
(
−Δc

ε −
λ0

ε2M2
I

)−1

− (Q−1
ε ⊕ 0)

∣∣∣∣∣
∣∣∣∣∣ ≤ R0ε

3β.

��� ���� �	
	��
��

 ���� ����� 	���� ����� ��� I ! �� �����	��� ��������� ������ � ����
���

�� −Δc
ε �� Λα

ε ! ��������� ���
����� "���� ������� ��� l
c
j(ε) ���� ����	�������

# �$%���	� ����� ����� ! ��
������ � 
������������ ������&��
� �� lcj(ε) ������

ε→ 0� '��� ���
��������� ������� ��� � ������� �$��
�� ����������� �� ()* ����

� 
��� $������������ � 
�� π2 �� ��+�� �� λ0� ���$!� 	��� ���� � ����� 
����

������� ��	 ,�%� β =
2

m+ 2
� -����� �� �������

μj = lim
ε→0

ε2β

(
lcj(ε)−

λ0

ε2M2

)
���.�

�
����� �� ��� μj ��� �� ����	������ �� �������� �� L2(R) ���� ���

(Hu)(s) = −u′′(s) + q(s)u(s), q(s) =

⎧⎨
⎩ 2λ0M

−3c+s
m �� s > 0

2λ0M
−3c−|s|m �� s < 0

. �����

 � ������� �
���� ���� � 
��� �����
���� �� ��� m = 2 � c− = c+ � ��������

H ! � ��
������ /���0��
��

�.



��������	
�� � 
�
��	� �� ���
�����

Iε = (−aε−β, bε−β), ε > 0,

� ����	
�� � �������� 	��
���	�� Jε : L
2(I)→ L2(Iε) ������ ���� �	������� s = s′εβ�

�����	���
�� L2(Iε) ��
 � ���������

{u ∈ L2(R) : u(s) = 0 ������ �
 R\Iε},

� ����	
��

Q̂ε := ε2βJεQεJ
−1
ε , �����

� ���� � �
 �������� ������� ���� ������� �
 L2(Iε)�

! �����
� ���	"� 
�	 ��
�������� �
 #$% ���� � ���� �	�	
���	����& 
��

��
��
 �� ������ �� ����� �����

������� ��	 '�
��∣∣∣∣∣∣Q̂−1
ε ⊕ 0−H−1

∣∣∣∣∣∣→ 0, ������ ε→ 0,

�
 ��� 0 � � �������� ���� �� ��������� L2(R\Iε)�

! ��
��������� �� '����
� ��( ���) ����������� �� ��*"	
� ������


�����
����� � ������� ������ +� �
 lj(Qε) � lj(Q̂ε) ��������� �� ����,������

�� Qε � Q̂ε �������	,�
����� -����,�
�� ��� �� ����,������ �� Q−1
ε ⊕ 0 ��� ��


��
�� �� Q−1
ε � !��	����� � '����
� ��.& ��
��∣∣∣∣∣

(
lcj(ε)−

λ0

ε2M2

)−1

− l−1
j (Qε)

∣∣∣∣∣ ≤
∣∣∣∣∣
∣∣∣∣∣
(
−Δc

ε −
λ0

ε2M2
I

)−1

−Q−1
ε ⊕ 0

∣∣∣∣∣
∣∣∣∣∣

≤ R0ε
3β.

/�������& ∣∣∣∣∣ 1

ε2β(lcj(ε)− λ0

ε2M2 )
− 1

ε2βlj(Qε)

∣∣∣∣∣ ≤ R0ε
β.

0���� ��� lj(Q̂ε) = ε2βlj(Qε)& ���� '����
� ��(& ����� ���

ε2βlj(Qε)→ μj (ε→ 0),

� � 	�������� ���(� ���) ��
���������

��



��� �����	
��
�� �� ������� ���

���� � �����	
����� �� 
������ ��� ����	 �
������ ���	 ��	��
���	 ��������

����	 
����� ��
�������	 �� ��� ���� � ��	� �������	������

���������� 	
	 ��
 ���� V (s) ≥ 0 ���  ����� ���	��!��� �� R �� ���� "��

V (s)→∞ "����� s→∞� ���� {Iε}0<ε<1 ���  ��#��� �� ��
������	 �� ���� "��

Iε1 ⊂ Iε2(ε1 > ε2) � ∪0<ε<1 Iε = R.

$��	�������	 �  ���� "����!
���

zV (u) =

∫
R

(|u′|2 + V |u|2)ds, u ∈ θV := {H1(R) : zV (u) <∞},

� �  ��#��� �� 	��	 ��	
���%�	 zV,Iε �� ���#���

θV,Iε = {u ∈ θV |∂Iε=0}.

����� ZV � ZV,Iε �	 ���������	 ��
�������
�	 �� L2(R) �		������	 � zV � zV,Iε

��	���
������
�� &�
��'

∣∣∣∣Z−1
V,Iε

− Z−1
V

∣∣∣∣→ 0 (ε→ 0). (���)

��
 ���� V0(s) ≥ 0 �� ��
������ *+��� ��  ���� "�� V0(s) → ∞ "�����

|s| → ∞� &�
��' � ������,-���� �� (���) � ��� ���� �� ���		� �� 
���	 �	 ��
������	

V "�� 	�
�	 ����

V (s) ≥ V0(s) �� R.

������������� ��
 ��� �	 .��/
�	�	 �� �����	���� ���� "�� Z−1
V,Iε

→ Z−1
V ��

	��
���  ��
� (�����	���� 01�0�02 �� �3�)� ���� ���� ε 
���	 θV,Iε ⊂ θV � zV,Iε(u) =

zV (u)' ���� 
��� u ∈ θV,Iε � 4		� 	�,��*�� "�� ZV,Iε ≥ ZV �' ���� 5��� 01�3�3 �� �3�'

Z−1
V,Iε

≤ Z−1
V � 6�	�� "�� V (s) → ∞ "����� |s| → ∞' � �������� Z−1

V � ������
�

($����!��� 00�7�� �� �3�)�

8�������� � 
������ 9�0� �� �0�� (�� ���
������' �		� 
������ ��� "�� 	�

Tε' 0 < ε < ε0' � ���  ��#��� �� ���������	 ������
�	 � ��
�������
�	 �� ����

�2



��� Tε → T �������	�� � �
���� �� �
������ ���
���� 	���	�������� �� ���� ���

||Tε|| ≤ T0� 
��� ���� ε� �	��� ||Tε − T || → 0 ���	�� ε → 0� ��	������� ��� �����

�����

��� ��	�����	��� �� �������  �!" �� #!"$�

���� �
������ ZV,Iε 
��� ��� ������� ���� ���� ������ �� ���� �
��������%

ZV,Iε = ZV,intIε ⊕ ZV,extIε ,

�� ��� ZV,intIε � ZV,extIε ��� � ����� �

������ ��� ZV,Iε � ��� ��	��&'�� ��

(����)��� 	� ���	����� ∂Iε�

�������	� 
�� * 
��
���&�� �	������ ��	�� + �,���� �� ���� �
������ Z−1
V,Iε

��� ��-��

������� 
�� ZV,int(Iε)⊕ 0� �� ��� 0 + � �
������ 	��� 	� ��-��
�&� {u ∈ L2(R) : u =

0 �� R\Iε}�


������������ .���� �� ���� �� ��� 〈ZV,ext(Iε)u, u〉 ≥ inf
s∈R\Iε

V (s) � ����� ||Z−1
V,ext(Iε)

|| → 0


��� ε→ 0�

*���� ����� ��	��&'�� �� ����	����� � ������� ��"�


����������� �� ������� �
���� .�/� Wε � ��	&�� ��0	��� �� ���1� �
,���2�

�

Vε(s) := ε2βWε(ε
βs).

* ����� �����,���� �� �
������ ���3� �
,����� +

q̂ε(w) =

∫
R

(|w′|2 + Vε(s)|w|2
)
ds.

* ��	��&�� ���!� �
,��"4� 	�� 
������ ��������� 
��� s > 0�

h(s) =M − c+s
m + ρ(s)sm+1,


��� ������ ��	&�� ρ ∈ L∞(0, b)� *�����(
1

h2(s)
− 1

M2

)
= 2c+M

−3sm + ρ1(s)s
m+1,

��



���� ������ ��	
�� ρ1 ∈ L∞(0, b). 
����	��� ���� s ∈ (0, bε−β)�

Vε(s) = ζε(ε
βs, y)

[
q(s) + λ0ρ1(ε

βs)sm+1εβ
]
+ ε2βv(εβs) + ε2βc.

��� ��������� ������� ���� ���� s ∈ (−ε−βa, 0)�

��	��������� � ������� �� �	�������� {I ′ε} ���	���� ���

I ′ε = (−ε−c, ε−c).

� ��	��
�� ����� c � c(m+1) < β� ����� � ���� ���� η > 0 ������ �� 	�����

ε(η) > 0 �� �����  ��

|Vε(s)− q(s)| < η, ∀s ∈ I ′ε, ∀ε < ε(η). !"�#$%

&�������	�� !"�'% !�(��"$% �����

Vε(s) ≥ σ|s|m,∀s ∈ Iε, ∀ε < 1. !"�##%

)���	����� � ��	
�� Vε(s) �� ���� R ����	�� Vε(s) = σ|s|m ���� t /∈ Iε� �
���� ��	
�� ����	���� Vε ���������� ��*� ����������+ Hε �� L2(R)� Q̂ε �� L2(Iε)

� Q̂′ε �� L2(I ′ε)� ���� �������� ���� ���� −d2/ds2 + Vε(s), �� ������� ���� ���

��	��
-�� �� .����/��� 	� ���	������

0������

Hε = ZVε ; Q̂ε = ZVε,int(Iε), Q̂′ε = ZVε,int(I′ε).

)� ����������� Q̂ε � � �������� !"�1%� 
��� ����	�� ����� �� 
������
�� "�" �����

||Q̂−1
ε ⊕ 0−H−1

ε || → 0 � ||Q̂′−1
ε ⊕ 0−H−1

ε || → 0,

 ��	�� ε→ 0� �� �����	���

||Q̂−1
ε ⊕ 0− Q̂′−1

ε ⊕ 0|| → 0 (ε→ 0). !"�#2%

����� ��	��������� � ������� �� ���������� H ′
ε := Zq(s),int(I′ε)� ����	�� ��

L2(I ′ε) ����

(H ′
εu)(s) = −u′′(s) + q(s)u(s),

1$



��� �������	
 �	 �����
��	� 	� ∂I ′ε� �	
�� �	� � ���	����� ��� ������	 � �����	���

ε� �

��� �	�� ����	��� ����	 �� �����
���� ���

||H ′−1
ε ⊕ 0−H−1|| → 0 (ε→ 0). ������

��������� � 
	� ��� 	! ���� ��
 �	
���	��	
� 	
��	�	��


Q̂′−1
ε −H ′−1

ε = −Q̂′−1
ε (Vε(s)− q(s))H ′−1

ε . ����"�

����� �#
	��	��
 ! 	 	$�
�	  �� ���
����	 C > 0 �	 ���� ! 	

||Q̂′−1
ε || ≤ C 	 ||Ĥ ′−1

ε || ≤ C. ����%�

����&�� ����"� 	 ����%� �������� ! 	∣∣∣∣∣∣Q̂′−1
ε −H ′−1

ε

∣∣∣∣∣∣→ 0 (ε→ 0). ����'�

( 	���� � �	
 ����� 
	� 	 ��� ����)�������� 	 ����'��

��� ���� �	
����

*	
�� 
	��� ������ ���
 ���
��	����� � ��
� 	� ! 	 I +  � ���	����� ����,

����� *� 	������� � �������� �	 �����
�	� �� ����	 �	������ �� -����	��� ∂(I × S)

+ 
 #
��� .�� �	�� �������� �	 *	 ����� / �#0	���� + ��
���� ! 	 	$�
�	� �	,


 �����
 
������	
 �� �� ��
� �����
�	�� 1
�� ���#+� -�� -	��� 	� 2�&3 ���� � ��
�

#����	�
������

4��
��	�	��
 � -���� ! ���5����

qε,N(w) :=

∫
I

|w′|2 +Wε(s)|w|2ds, domqε,N = H1(I),

	� ! 	 Wε(s) + ���� ��� ����� ��5���&�� �	������
 ��� Qε,N � ��	����� � ��,

��0 ��� �

������ � qε,N �

4��� �
 ���	�����
 Wε 
�� ����
 ��
�����
� � �	���
������ �� �	�� �#��$� +


������ � -	��� 	� 2�&3 	 ��� �

� ��� 
	�5 �	�	���� �! ��

6�



���� ��� ∣∣∣∣Q−1
ε,N −Q−1

ε

∣∣∣∣ = O(ε2).

���� ���	 ������ ��	 
����	��� R1 > 0 
� ��
� ���� �	�	 ε ���
����������

�������� ∣∣∣∣Q−1
ε,N

∣∣∣∣ ≤ R1ε
2β.


����
������� ���� ���	 ���� ������ ��	 
����	��� R1 
� ����	 ��� ||Q−1
ε || ≤

R1ε
2β �	�	 ε ���
���������� �������� ���� β ≤ 2/3� � ���	 ��� �	�	��� ��� 	

����	 �����	���	 �	�� �	�	 Q−1
ε,N �

������� ���� ������ ��	 
����	��� R0 > 0 
� ��
� ���� �	�	 ε ���
����������

�������� ∣∣∣∣∣
∣∣∣∣∣
(
−Δc

ε,DN −
λ0

ε2M2
I

)−1

− (Q−1
ε,N ⊕ 0)

∣∣∣∣∣
∣∣∣∣∣ ≤ R0ε

3β,

�� ��� 0 
����	 � ����	
�� ���� �� ������	�� L⊥�

���	�
� �� 
���	 � ���	 �� ! � � ���	 ��"� 	 
�������	�#� 
� ������	

	
��	 $ �����	� 	 
� %�����	 ��&�

���� �	 '��#� ��(� �����
�)���� 	 �	�*��	 
� ��������� Iε = (−aε−β, bε−β)

+ε > 0, � 
������� � ����	
�� ����$���
� Jε : L
2(I)→ L2(Iε) ���	
� ���	 
��	�	�#�

s = s′εβ� -
�����
	��� L2(Iε) 
�� � ������	��

{u ∈ L2(R) : u(s) = 0 ������ �� R\Iε}.

.������� Q̂ε,N := ε2βJεQε,NJ
−1
ε � � ��	� $ �� ����	
�� 	���/	
0���� 	��	�
� ��

L2(Iε)�

������� ���� %����

∣∣∣∣∣∣Q̂−1
ε,N ⊕ 0−H−1

∣∣∣∣∣∣→ 0, ��	�
� ε→ 0,

�� ��� 0 $ � ����	
�� ���� �� ������	�� L2(R\Iε)�

1�



��������	
��� ���������� 	
�

∣∣∣∣∣∣Q̂−1
ε,N ⊕ 0−H−1

∣∣∣∣∣∣ ≤
∣∣∣∣∣∣Q̂−1

ε,N ⊕ 0− Q̂−1
ε ⊕ 0

∣∣∣∣∣∣+ ∣∣∣∣∣∣Q̂−1
ε ⊕ 0−H−1

∣∣∣∣∣∣
=

∣∣∣∣∣∣Q̂−1
ε,N − Q̂−1

ε

∣∣∣∣∣∣+ ∣∣∣∣∣∣Q̂−1
ε ⊕ 0−H−1

∣∣∣∣∣∣
= ε−2β

∣∣∣∣Q−1
ε,N −Q−1

ε

∣∣∣∣+ ∣∣∣∣∣∣Q̂−1
ε ⊕ 0−H−1

∣∣∣∣∣∣ .
���� β ≤ 2/3� 
����
��� � ���
 ���� � � ������
 ���� � ������
 ��
 ��������
���

�� ����
�� �� ������
 
���
� � ������
 ��� �
���� �
�� �
�
 � �
��  �
!

�
���

��� ���� I = R

 ���
 ��"#� �
��� ���
�
� � �
�� I = R� $%��
 � �������� �� �
��
��
��

−Δc
ε �� Λα

ε �#� � �
�� ������
��
����� �������� � ������� 	
� � �������� �������
�

������� �� �������
����� �� h �� �������� $��� �
� �����"&�� '�( � '��( '��)


�*%��+(� �
��� 
��
��� 	
� h �
���,
-.

'���( lim sup
|s|→∞

h(s) < M /

'��(
h′(s)
h(s)

∈ L∞(R)�

� ��)����� ����
 ��"#� � �����
� 	
� �
��� ���
��
��� 
�*��%�� 
�� ������
�

��+� ��� � ��� 	

��� I = R� �� 0��1 ����� ������
� �#� ��������
��� ���
���

I = R �� �
�� �����������
�� 2
��� �����
� 	
� 
� ��������
"&�� ����� ���


�
��
�
� 
� ����� �
�� ������������
��


��	 ���� �3���� 
�
 �����
��� R1 > 0 �� ���� 	
�� �
�
 ε �
������������

��	
����

qε(w) ≥ R−1
1 ε−2β

∫
R

|w|2ds, ∀w ∈ H1(R).
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� �������	
��� �� 
��
 
���
 ��	� ����
 �� ��

 ����
 ������

������� ��	
 ���
 I = R � h �
����
����� ��������� ������ ������ ��
 �����
���

R0 > 0 �� ���� ����  
	
 ε ��������������  �������∣∣∣∣∣
∣∣∣∣∣
(
−Δc

ε −
λ0

ε2M2
I

)−1

− (Q−1
ε ⊕ 0)

∣∣∣∣∣
∣∣∣∣∣ ≤ R0ε

3β,

�� ��� 0 �����
 � � �	
��	 ��
� �� ��!�� 
�� L⊥�

� �������	
��� ����� ���	��
 " ����

	 
 �� #��	��
 $�% 
��
��� �� ������

��	
��� � &��
 $�'( �
� ���"� �� &��
 $�)� � � &��
 $�(�

*��� �
 ����� 
���	��	� �������	���� �� � �	
��	�� 
����
�������

Q̂ε := ε2βJεQεJ
−1
ε ,

�� ��� Jε : L
2(R)→ L2(R) " 
 ������	�
 +�	
�
  �

 ��

�
��� s = s′εβ�

������� ��	� #���� ���  
	
 ε→ 0

∣∣∣∣∣∣Q̂−1
ε −H−1

∣∣∣∣∣∣→ 0,

�� ��� H " � � �	
��	 �$�$� ���	������� �
  �+��
 $,�

� �������� ����� �� 
��
 ��� � ��  ������
�� Wε(s)  ���� ��	 
����
��� � �����

� ���� �)� �
 -	� ������ $�$ ��� �� 
 
��
 ����� �
��� ������  
	
 �������	
	 �

#��	��
 $�'.� �
��� ������
	 �� 	���
�
�� ����

	 
 -	� ������ $�$� ZV �����
 �

� �	
��	 −d2/ds2 + V (s) �� L2(R) ��� V ����� ��  ������

 ������+
�����

���
������ ��	� ���
� V (s) � Vε(s)� 0 < ε ≤ ε0� ����/�� �����	����� ����

��+
���
� �� R �� ��	�
 ��� V (s)→∞ ��
��� |s| → ∞ �

Vε(s)→ V (s), ��
��� ε→ 0, �$�'$�

�����	������� �� ��!��������� ��� 
���� �� R� �� ��0
��� ���

Vε(s) ≥ V 0
ε (s), ∀s ∈ R, 0 < ε ≤ ε0,

1%



�� ��� V 0
ε (s) � ����	 
	���
	 �� 
������ ���������
� �� R 	 ��	� � �������	 ��

ε� �� ���	�

ε1 > ε2 ⇒ V 0
ε1
≤ V 0

ε2
, ∀s ∈ R.

������	��� �	���� ���

c(ε) := lim inf
|s|→∞

V 0
ε (s)→∞

��	��� ε→ 0� ������ ∣∣∣∣Z−1
Vε
− Z−1

V

∣∣∣∣→ 0,

��	��� ε→ 0�

��������	
��� �� �
��� T := Z−1
V � Tε = Z−1

Vε
� ���	 T 0

ε � 
������ �� ����	���

�� �!��"�
�#�� !�� �����!
	� V 0
ε (s)� $ �
������ %&�'&( 
���
!	 ��� ZVεu → ZV u

�	�	 !	�	 u ∈ C∞0 (R)� ) *�����	 +�', �� -'./ #	�	��� ��� Tε → T 
����������

0
1���� ε∗ ∈ (0, ε0)� ������ �	�	 ε < ε∗� 	� !���
���� �	 2�����
��� $�, ��

$�3��
!� ��� �	�
�
�
�	� !�� T0 = T 0
ε∗ � ����	 ������
���� !��!������ ���

lim sup
ε→0

||Tε − T || ≤ c(ε∗)−1.

) ������	�� � ���
�� ���	��� ε∗ → 0�

��������	
�� 
� ������	 ����� 4���
������� � �����!
	�

Vε(s) = ε2βWε(ε
βs)

�� ���Wε(s) � 	 
����� �� �
�	 �� %&�5( %��#�&6(� 4�� ��	 ��������	��� �
�
�	�

7����	 �� *�����	 &�8� ������� ��!�����

Vε(s) = ζε(ε
βs, y)

[
q(s) + λ0ρ(ε

βs)sm+1εβ
]
+ ε2βv(εβs) + ε2βc,

�� ��� ρ(s) � ��	 
����� �
�
�	�	 �� !	�	 
�����	��  �
�� (−a, a) �� R� )���������

��� Vε(s)→ q(s) ��

��������� �� !	�	 ���!������� !���	!�� �� R�

2	�	 |s| ≥ 1� �	��

ζε(s, y)

(
λ0

h(s)2
− λ0

M2

)
≥ c0,

+,



���� ������ �	
���
�
 c0 > 0� ���	 �
��
 �	 ���	 �
 ��
 
����
 δ > 0 �
 �	���

��
 ζε(s, y) ≥ δ� ���� ε �����

�
�

�
 �
��

	� 
 ������ �	 �	��	����

�	 �


h ������	 � 	���
� ��
�� ��
� ��� 
� ���� !��

"	 �
�
����	 [−1, 1] � �
���������
 Wε(s) ≥ σε−2|s|m � ������
��� ���� ������

�	
���
�
 σ > 0 ��
�� �
�	
����#$	 �	 %
�� &�'�� (�����

Wε(s) ≥ σ1ε
−2min(|s|m, 1), ∀s ∈ R, ε > 0,

���� ������ �	
���
�
 σ1 > 0� )	���
�	�

Vε(s) ≥ σ1min(ε
−2+2β+mβ|s|m, ε−2+2β)

= σ1min(|s|m, ε−2+2β).

*
�
�

V 0
ε (s) = σ1min(|s|m, ε−2+2β).

( �
��+
��� V 0
ε (s) �������, �� �	
��#-
� �� )�	�	��#$	 &�. � (����� 	 �
	�
�� ���

�
�	
�����	�

��������	
�� �� 
��	 ������� / 0
	�
�� &�.1 ����
�
 ��


ε−2β
∣∣∣∣Q−1

ε

∣∣∣∣→ ∣∣∣∣H−1
∣∣∣∣ (ε→ 0),

	� �
��� 
����
 ��� �	
���
�
 C > 0 �
 �	�	 ��


∣∣∣∣Q−1
ε

∣∣∣∣ ≤ Cε2β.

/ 0
	�
�� &�1 ������ ���
 ���� 	 ���	 I = R� 2���� ������� 	 0
	�
�� &�.1�

��� � �����	
� �
��
�	� �� ���� I = R

*
�
��	� ν(ε) := inf σess(−Δc
ε) 
 �

	���	� �	� lcj(ε) 	� ���	���	�
� �
 −Δc

ε�

3
 −Δc
ε �
� 
��
���	 
��

���� ��,�	 
���
�
�	� ν(ε) = ∞� *

	���	� �	� n(ε)�

n(ε) ≤ ∞� 	 
4�
�	 �
 ���	���	�
� lcj(ε) ≤ ν(ε)�

5 



������� ��	� ���� I = R� h �����	�
���
 �� �
������� �������� � � ��������� ������

	�
���


lim
|s|→∞

k(s) = 0. ������

����
�

ν(ε)→∞ (ε→ 0).


�����
������ ���� N := lim sup
|s|→∞

h(s) < M � Î = [−a, a]� ������
�

Ωa,ε = {(s, y) : s ∈ Î} � Ω′a,ε = {(s, y) : s /∈ Î}.

����� −Δc
a,ε,D � −Δc′

a,ε,D 
�  �!"�����
� �� �����#"�� �� Ωa,ε � Ω
′
a,ε ���!�����

�������� ����� −Δc
a,ε,DN � −Δc′

a,ε,DN 
�  �!"�����
� ����� ��� �
� � �
�����
 ��

�����#"�� �� !���� �������" ��� 	�
������� �� Ωa,ε � Ω
′
a,ε ��$�����%�� !�"� �
�����
 ��

&������� '$������
� (��

−Δc
a,ε,DN +

(
−Δc′

a,ε,DN

)
< −Δc

ε < −Δc
a,ε,D +

(
−Δc′

a,ε,D

)
. ����)�

&����� �
������� inf σess(−Δc
ε) ≥ inf σess(−Δc′

a,ε,DN)�

���� Q′a,ε,DN � 	
��� (����*���� ���
����� �
 
!����
� −Δc′
a,ε,DN � '$������
�

(��

Q′a,ε,DN(ψ) ≥
(

inf
(s,y)∈R×S

βε(s, y)

ε2h(s)

)∫
(R\Î)×S

|∇yψ|2dyds

≥ λ0

(
inf

(s,y)∈R×S

βε(s, y)

ε2h(s)

)∫
(R\Î)×S

|ψ|2dyds

≥ λ0

(
inf

(s,y)∈R×S

βε(s, y)

ε2h(s)

)
1

sup
(s,y)∈R×S

βε(s, y)

∫
(R\Î)×S

βε(s, y)|ψ|2dyds,

!��� �
�� ψ ∈ domQ′a,ε,DN � ����� (�� k �����	�
 ������� !
���
� 
$������ (�� 


��!����
 ��������" �� −Δc′
a,ε,DN + �������
 ��	���
������ !
� λ0 ��
�� ��� 	����


(�� ����� �
1

ε2N
(����
 a → ∞� ,
�
 
 ��!����
 ��������" + �� ��$�
�����


	��#��
 ��-�� (�� ν(ε) ≥ λ0

ε2N2
� �
���(���������� ν(ε)→∞ (����
 ε→ 0�

' !�./��
 ��
���� + ��� 	
��� �"��������� �� ���
������ � �-��"���� ���0��

��



������� ��	
 ��� �� ������ ��	
��
�� 
� ������� �	������� ���� ε ������	���

��	�� �����	�� � �������� 
������� 
� −Δc
ε �� Λα

ε � 	�������� � ���� � �����
�
�

���� �

�����
������� !�� � �������� 
� −Δc
ε � 	��������� ���� ε ������	����	�� ���

���	�� ����� 
� ��	����"	��� �	�#���� 
� $������ ��%� � 
� #��� 
� ��� � ��������


������� 
� H � 	��������� &���
� � ���%' � �� ����������� lcj(ε) 
� −Δc
ε ����(� 
�

λ0

ε2N2
�����#����

lcj(−Δc
a,ε,DN) ≤ lcj(ε) ≤ lcj(−Δc

a,ε,D).

) ����������	�� ����	�*���� 
�� ����������� lcj(−Δc
a,ε,DN) � lcj(−Δc

a,ε,D) ���

������ ��� � 	+���� n(ε) ������ �	
��	�
���	�� � �� ���������� lcj(ε) ��� � ����

�������	�� ����	�*���� 
�
� ��� ���� �

,�	���-��� ��� ���� ε ������	����	�� �����	�� � �������� 
������� 
� −Δc
ε

� 	��������� .��� #��� �	
���	
� 
�� �#����� ����������� 
� ���� ���� ����������

������ �� ������� 
� /	����� ) �����
�� ������ 
�
� ��� ���0 ���1� �2����0 � � ����

� ����������	�� ����	�*���� 
�� ����������� 
� −Δc
ε ��� �������
��� ������ 	�� �

�	3��	���
� ��� ����� �#������

44



�������� �

��� � ������	
 �� �
�
����� � ��� �
��� �������
��

���������	�� � �
������ ��
�������
� (hw)(s) = −w′′(s)�

domh =
{
w ∈ H2(R\{0}) : w(0+) = 0 = w(0−)

}
.

���� ����	
�� � 	����
	
� 	 ����	 �����
�
��	�

bh(w,ϕ) = 〈w′, ϕ′〉, w, ϕ ∈ dombh,

�� ��� dombh = {w ∈ H1(R) : w(0+) = 0 = w(0−)} , �� ���	� dombh � � 
����
�


� ����	 
� h ��	�	 �	
� 
��	���� �������� ����� ��� �� ��� �

! 
����
� 
� ����	 
� ����	
�� ����
��
�	��� V (s) = − κ

|s| � s, κ ∈ R� κ 
= 0�

�

dombV =

{
w ∈ L2(R) :

w(s)√
s
∈ L2(R)

}
.

"#��	���$ V � bh%�
�
�	
� � � bh%�
�
�� 
� V � ����� 
� ��� 1� &� �	��� �������

��� dombh ⊂ dombV � &	
� a > 0� ���������� δ > 0 
� ����	 ���
1

|s| ≤
a

4

1

|s|2 �	�	

��
� |s| ≤ δ� '��	 
��
(�	�
	
� 
� )	�
*� �	�	 w ∈ dombh� �����

|bV (w)| = |κ|
∫

R

|w(s)|2
|s| ds

= |κ|
∫
|s|≤δ

|w(s)|2
|s| ds+ |κ|

∫
|s|≥δ

|w(s)|2
|s| ds

≤ |κ|a
4

∫
R

|w(s)|2
|s|2 ds+

|κ|
δ

∫
R

|w(s)|2ds

+,



≤ |κ|a
∫

R

|w(s)′|2ds+ |κ|
δ

∫
R

|w(s)|2ds

= a |κ| bh(w) + |κ|
δ
‖w‖2.

���� a > 0 � ����	�
���� �
��
 � �
���	����

�
��
 ��


b0κ(w) = bh(w) + bV (w)

��� domb0κ = dombh� �
�� �
��
�� ���� 
� ���� 
���	
 ��  !��� ��
����� ��	�"

��#�!	� H ��� domH ⊂ dombh� ��#� ���$!�� �
 %���� � dombh� �
 ���� ��


〈ϕ,Hw〉 = b0κ(ϕ,w), ∀ϕ ∈ dombh,∀w ∈ domH. &'�()

* ��!+
���� ��
 domH � �
!�� 
� dombh ��� �
��
�	� �� �����	� �!	
�!�

〈·, ·〉+ := b0κ(·, ·) + 〈·, ·〉� 
� ��
 〈·, ·〉 �
!�	� � �����	� �!	
�!� ����� 
� L2(R)�

,
#�HD � 
�	
!�-� ��	�"��#�!	� �
 &(�.) ��� ��!��/0
� �
 �����+�
	 !� ����
��

��	
��� ��
 domHD � �
!�� 
� (dombh, 〈·, ·〉+)� �
 %�	�� �
��
 ��
 dombh � �

���$!�� �
 %���� �
 h� ���� ���� w ∈ dombh 
���	
 ��� �
��1!��� (wn) ⊂ domh =

domHD �
 ���� ��


bh(wn − w) + ‖wn − w‖2 → 0. &'�.)

����!�� a > 0 ���� ������ 
 !�2��
!	
 �
�� �
���������
 �
 3���4�

|bV (w)| ≤ d
(
bh(w) + ||w||2

)
, &'�5)


� ��
 d = max{a|κ|, |κ|/δ}� '����� ��� &'�.) �!� &'�5)� bV (wn − w)→ 0� '���

〈wn − w,wn − w〉+ → 0,

�� �
#�� domHD � �
!�� 
� (dombh, 〈·, ·〉+)� 6�� �!	
���/-� ��� ���	
� ���	�� ��

� ��!��/-� &'�() 	����� 2��
 ��� H ����	�	���� ��� HD7 ������ ��� �!������
�

�
��
 ��
 H = HD�
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��� �� ���	
��
� ����� ������������ 	�������

���� {Hε}0<ε≤ε0 ��� ����	
� �� ��
���� �� �
	���� ��
�����
�� ����� ����
�

����� �
���� � ���� ���	� ���� Lε ⊂ Hε �� �����
��� ������� �� Hε� ���������


�� L⊥ε � ���
	������ ��������	 �� Lε �� Hε� �� �����

Hε = Lε ⊕ L⊥ε .

����� Pε � P
ε �� 
�������� ��������
� �� Hε ��� �����
����� Lε � L⊥ε ���
���

�
��������  ��
�� 
��� ���� �	������ ψ ∈ Hε ����������

ψε = Pεψ, ψε = P εψ.

���� aε(ψ1, ψ2) ��� ����� �
	
���� �
�!��
�� �� Hε ��� �����
� ����� ��

Hε� ��
������� "�� � ������
������� ����� "������
�� aε(ψ) := aε(ψ, ψ) ! �#��

�����
�� � �������� ���� Aε � �
������ ������������ �����
��� � aε� ��
�������

����!� "��

ψ ∈ domaε ⇒ ψε ∈ domaε.

$����"�����������

ψ ∈ domaε ⇒ ψε ∈ domaε.

%��#�� �� ���������

dε := {ψε : ψ ∈ domaε}, dε := {ψε : ψ ∈ domaε},

�#� ������ �� Lε � L⊥ε ���
���
��������
����� ����
����� � ����	
� qε := aε � dε � bε := aε � dε �� ������ "������
�

��� �� Lε � L⊥ε ���
���
�������  ���� qε � bε �#� ������ "������
��� ���������

�������� 
�� Qε � Bε �� ������
�������� �
�������� ��������������

 ����� "������
�� aε 
��� ��� ����
�� ����

aε(ψ) = qε(ψε) + bε(ψ
ε) + 2mε(ψε, ψ

ε). & �'(

)*



����� ����� �	
�� �� ���	�
��� ��
������ 
��� ���� ����� �� ��
������ ������

qε(ψε) ≥ c(ε)||ψε||2, ∀ψε ∈ Lε, c(ε) ≥ c0 > 0; �����

bε(ψ
ε) ≥ p(ε)||ψε||2, ∀ψε ∈ L⊥ε ; �����

p(ε)→∞, c(ε) = O(p(ε)); �����

|mε(ψε, ψ
ε)|2 ≤ q(ε)2qε(ψε)bε(ψ

ε), ∀ψ ∈ hε, q(ε)→ 0. �����

���������� 	
� ���� ε �	����
����
�� 
��	�
� � �
������ Aε ! ���
��� 
�������

� ���"�� ∣∣∣∣A−1
ε −Q−1

ε ⊕ 0
∣∣∣∣ ≤ p(ε)−1 + Cq(ε)c(ε)−1. ���#�

�
����������� $
����%��
�� ����� �
�%���� � &���� �	���'����

hε(ψ) := qε(ψε) + bε(ψ
ε), ψ ∈ domaε.

��� ����� � ����� hε ! 
�������� hε ���(!� ! &��)��� 
��� qε � bε ��� &��)�����

*�+� Hε � �
������ �	��"��+	
�� ��������� � hε� ��� ����� 
��� ε �	����
����
��


��	�
� ∣∣∣∣H−1
ε

∣∣∣∣ ≤ Cc(ε)−1,


��� �%�	�� ��
���
�� C > 0� �%!� ����� ����� ��
%��� �	�

|mε(ψε, ψ
ε)| ≤ q(ε)hε(ψ).

,�
���	�
����
��

|aε(ψ)− hε(ψ)| = 2|mε(ψε, ψ
ε)| ≤ 2q(ε)hε(ψ).

���� ε �	����
����
�� 
��	�
� �� &���� �	� q(ε) ≤ 1/4 � ��	�%���� �����

��
%��� �	�

1/2hε(ψ) ≤ aε(ψ) ≤ 3/2hε(ψ), ∀ψ ∈ domaε.

#-



������ ���� ε �	
���
����
�� ���	�
�� Aε � �������� �

∣∣∣∣A−1
ε

∣∣∣∣ ≤ 2Cc(ε)−1.

������� ������ �	� ����� � ��	�����
�� �

∣∣∣∣B−1
ε

∣∣∣∣ ≤ p(ε)−1. ������

���� ψ1, ψ2 ∈ domaε � ε �	
���
����
�� ���	�
�� �����

∣∣〈A1/2
ε ψ1, A

1/2
ε ψ2〉 − 〈H1/2

ε ψ1, H
1/2
ε ψ2〉

∣∣
= |aε(ψ1, ψ2)− hε(ψ1, ψ2)|
≤ 2q(ε) (hε(ψ1)hε(ψ2))

1/2

≤ 2
√
2q(ε) (hε(ψ1)aε(ψ2))

1/2 .

����
�� ψ1 = H−1
ε f � ψ2 = A−1

ε g� �� �	� f, g ��� �����
��� ������ ���� �� Hε�

����� ∣∣〈H−1
ε f, g〉 − 〈A−1

ε f, g〉∣∣
≤ 2
√
2q(ε)

(〈A−1
ε g, g〉〈H−1

ε f, f〉)1/2 ≤ 4Cq(ε)c(ε)−1||f || ||g||.

�����
��� ∣∣∣∣A−1
ε −H−1

ε

∣∣∣∣ ≤ 4Cq(ε)c(ε)−1. ������

!���� �	� H−1
ε = Q−1

ε ⊕B−1
ε � ��
��	"��� �	�

∣∣∣∣H−1
ε −Q−1

ε ⊕ 0
∣∣∣∣ = ∣∣∣∣B−1

ε

∣∣∣∣ .
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���� ��� �	�
��
������ �� ������ ���� ψ ∈ H1(R3) ����∫
R3

|∇ψ(x)|2dx ≥ 1

4

∫
R3

|ψ(x)|2
|x|2 dx.
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��	����� �
 w ∈ H1(R) 
 �������� w(0±) = 0
 
����∫
R

|w′|2ds ≥ 1

4

∫
R

|w|2
|s|2 ds.
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#� Ω ��� 	
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	�� �
 R
m� % &� ������� �
 '�	��(�
� 
� Ω
 −ΔD

Ω 
 )

� *���� � 
	���	 ����+��#���� 
� L2(Ω, dxm) ��#� ��	�� ,���	-���� ) � �
�(� ��

��	�� q(f, g) =

∫
Ω

∇f · ∇gdxm 
 � ���.��� ) C∞0 (Ω)� % &� ������� �
 �
�����


� Ω
 −ΔN
Ω 
 ) � *���� � 
	���	 ����+��#���� 
� L2(Ω, dxm) ��#� ��	�� ,���	-����

) q(f, g) =

∫
Ω

∇f · ∇gdxm �� ���.���

H1(Ω) = {f ∈ L2(Ω) : ∇f ∈ L2(Rm)},
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 ∇f �
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 f �� �
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�
#� D � � 
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� C∞0 (Ω)� 0����
 −ΔD
Ω = D∗D 
�+

,����� −ΔN
Ω = DD∗�
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�
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	���	 −ΔN
Ω ��� �
�����
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�����

�� �	���
�	� ∂Ω� 2���������
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 ���� −ΔN
Ω = DD∗ �
�+�
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  �	� f �� ���.���

�
 −ΔN
Ω = DD∗
 �
�
���	���
��
 D∗f  
	�
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 �� ���.��� �
 D� % ���.��� �
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�� ��� �
#�� Ω1 
 Ω2 ��$���#����� �$
	��� �
 ���� ,�
 L
2(Ω1 ∪Ω2) =

L2(Ω1)⊕ L2(Ω2)� 0����


−ΔΩ1∪Ω2
D = −ΔΩ1

D ⊕−ΔΩ2
D ,

−ΔΩ1∪Ω2
N = −ΔΩ1

N ⊕−ΔΩ2
N .
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� ��� �� Ω ⊂ Ω′� ���	
 0 ≤ −ΔΩ′
D ≤ −ΔΩ′

D �

���� �
�
 �
�
 Ω� 0 ≤ −ΔΩ
N ≤ −ΔΩ

D�

����� ���
� Ω1 � Ω2 ����
�����
� 
����
� � �������
� �� �� �
�����
 
����
 Ω ��

�
�
 ��� ���(Ω1 ∪ Ω2) = Ω � Ω\(Ω1 ∪ Ω2) ��� �����
 ���
� ���	
�

0 ≤ −ΔΩ
D ≤ −ΔΩ1∪Ω2

D ,

0 ≤ −ΔΩ1∪Ω2
N ≤ −ΔΩ

N .
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� T ≥ 0 � Tε ≥ 0� 0 < ε ≤ ε0� 
���
�
��� 
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!
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� �

�����
�
� ��� ���
�
 �� "������ ���
�#$�� H� ���
�%
�
� ��� Tε → T &
��������

��
��
 ε → 0� ���
�%
�
� �
��'� ��� �(���� �� 
���
�
� �����
�
 � 
��
!


�����
 T0 �� �
�
 ��� Tε ≤ T0� �
�
 �
�
 ε ≤ ε0� �

dist(T0, C) := inf{||T0 − T || : T ∈ C} = m, m ≥ 0.

���	
�

lim sup
ε→0

||Tε − T || ≤ m.
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